(COMPUTER BASED TEST) - 2022

PAPER - I - (&M6T - I)
CHILD DEVELOPMENT - ((5Loheng euenj&é)
(Post Graduate Degree Standard)
(PGIBEMEL LULLLILIGLL SOLD)

1.  Which Article of the constitution of India is committed to the Right to
Education?

@pdu srflueawinier apsis Gfley soei o fawsE endualsadng?

) 21 A (B) 21 B
) 24 (D) 39
(E) Answer not known

e Qs flweiidena

9. Which of the following is the Government of India’s flagship program for
the achievement of universalization of Elementary Education?
Qsm_éss s@elamu 2 @seaTTellu LWIIGED FTEMEESTEN QbHwu sipflen (pgeamod
b Qaneumeuaneupbler 6rg?

(A) Ghar Yojna (B) Swatch Bharat
&1 Guirgerm el & LINTS
‘(() Sarva Siksha Abhiyan (D) Rozgar Yojna
greu §l&gqm dwirer CrmavaT GuirgerT

(E) Answer not known

MenL Qs flalidvana

3. A state level child welfare programme in operation stressing on
nutritional requirements of preschool children is

umei  Gubmssdidan em L se5g Cameusmar adlLnISEHD wrhle  serelemer

GLHMSEHET BOSHLL LD
(A) , BCWR (B) IAPE
TINP (D) ICCW
(E) Answer not known
Men Gz flweicoene
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4.  Which act was passed by the parliament to regulate the manpower
development programmes in the field of education of children with
special needs?
fpiys CseayeoLw @ubassala soels gopuio walgeer Gubum (s
SlLmsmer @hiEGURSSIUSHETES BILTERLETDSSTO HanGaummiul L & Lib
eTg)"?

(‘K{ Rehabilitation council of India Act, 1992
Qb wmeurpey seqanéled s b, 1992

(B) Persons with Disabilities Act, 1995
wroms Hoearmefsar gL, 1995

(C) National Trust Act, 1999

- GCadlu sp&eLener gL i1b, 1999

(D) Rights of Persons with Disabilities Act, 2016

wroms Hoermailgaian o_MNapwser b, 2016

(E) Answer not known
eden_ Qsflweerena

5. The process of helping people to make decisions about their careers

&S hger Gaumaerwis upil iy eu@Rés 2 ge|b Aswepann

(A) Career guidance ) Career counselling
Cauma @hlse aufam Higeo Couanev GM&g <LComrsamen

(C) Vocational guidance (D) Vocational counselling
dsrfnaded euflsr Hge QAzminadel <Caoreamaen

(E) Answer not known
eflen QgMweldana
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The combination of both counsellor-centered and client-centered
counselling is termed as

2 Corsst  @LWUOILESSLIULL LOHND UTYEDSLTAT®]T @WLWLTSES e

< Gargamanilan SoameuTang —————— Tl JAMPESILHEDS).
(A) Directive Counselling (B) Non-directive Counselling
Qedlpany Carsamer Qpdlparn Qaoens HpCarsamer
‘6 Eclectic Counselling (D) Group Counselling
Canb@gsBssiiul_L Gorsamarn & ACorsmaen

(E) Answer not known
een Gsflwaelerene

A series of processes aimed at assisting the employees make informed
career decisions is known as

gsaiwibs Gsmie yesmer ahiss 2afuTsEREE 250 Crrésnnss

Qaran_ Qsmrsdwner Qswdpemnser ———— arar SflutiuGEamng.
(A) Career Anchoring ) Career Guidance

QgmPled HrRIgTD Qzmpled euflsmL
(C) Career Counselling (D) Career Goals

Qgmfler = Carsene UMPEENS @& EEET

(E) Answer not known
MenL QgMwelcrane
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8.  Which of the following statements are true about education counselling?
g6l Cargamaer unMl GemeuHLd snhmsefle erg o ameano?
(1) To maintain academic progress of students
rarelisafen el perGarhnsans sanarass o gab.
(1) To diagnose learning difficulties of students
rareuigaten sHme HATomismers ST o SeyLb.
(1i1) To help in dealing with relationship issues

2 pa Ursflevansamer answimereudle 2 §aLb.

(A) (1) only (B) (1) and (iii) only
(1) vl @b (1) wHmw (111) vl G
‘() (1) and (i1) only (D) (1) and (iii) only
(1) wpmib (11) w Hd (11) wpmb (111) LI Hbd
(E) Answer not known
eflenL Qg Mlweldena

9. Occupational therapy is included in the counselling provided for
5§ eaprsiupn  Plorsmanie  QsrPastt  Hdsms
Geiigsliu_(Dererng,.
(A) Marital issues
Smwent Grésamenser
(B) Study problems
L Ly sbupgoner Wrsseerger
Vol Physically disabled
2 L Q) 2EIE(LPHMEUITS(EHE S,
(D) Career choices
Qsmfler Gaitey sbubsoTer TFsaanser
(E) Answer not known
ellen Gz flweNerane
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10.

11.

In the technique of person-centered counselling the ‘conference’ 1is
related to
puismer ewwwisas Qerar. oGorgmandar FUUSSHD @Dp@L CFMimL g
&gl?
(A) Unconditional positive regard
Bupgaenunn Crioampurer wilurms
‘({ Matching between facial expression and words
(PEUTEIEET LHNID UTTEMSHEHEE Qe G ummSsd
(C) Empathy towards the client
s pUT 55 ST
(D) Reflexive acts
Qrduediiy Qewcser
(E) Answer not known
elen Qs flwelerane

The counselee does not gain any liability of self analysis or solving new
problems of adjustment (by the counselling) in the case of
counselling.

&U uGLUMLe| pmb Heswsmas SisEL Curpiy Geupen
g Garsamar panuld Garsst ghudlome.

(A) Eclectic (B) Non-directive
eT&@eig & Qpdlpann @oenss
Directive (D) Group
ApHlpern GW
(E) Answer not known
e QgMweierana
7 Child Development
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12. At secondary stage of schooling, students need guidance for
vatefll ugfer Qe mb Hlavew wrameTsEREE ahss gopuled aufsT O
Coemeu?

(A) Planning a job
R Geumaanwis S L AHGe
(B) Planning a change of school
uerefl rHSMSS S OB
\6 Planning future higher education
aglisne o wiblaws soelamus S LG
(D) Planning an entrepreneurial venture
@@ Asmfler pearCaurt pupHows HLIOHs®
(E) Answer not known
edlen Qs flwelérane

13.  Counselling is defined as “A self-adjustive process’ which helps the client
become more self-directive and self-responsible”, according to

e sapmiliug Corsmanurearg “em sw-sf Qslgd Qewudeparpuns
U TUmSSILHE DS 9\ QUMY SENSWIMET(HE (S, FW-QUIGES® LDHMILD
sW-Curmiliy_e 2 gayfms,”.

(A) Williamson (B) Arbuckle
efléallwibaen TGSl er
Shostrom and Brauner (D) Keller
Gagmrav Qb LHmiD LiFTeueT Qe

(E) Answer not known
eflenL QgMwelerena
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14. Which of the following is not a function of guidance and counselling?

Wemeumeneun e erg auflam_(Hge whmib Corsmanier dsweaumh sica?

(A) Adjustmental (B) Orientational
sfQauigen fluaTGLagere

(C) Developmental *ﬂrDlrectmnal
euerTEd &g Mw Hengoulf

(E) Answer not known
e Qgflweidena

15. Which one of the following statement is not a characteristic of a
non-directive counselling? -

Sipssa siflsmssaiie argl Chilg sidans o Carsmanian Apcindudy siwaw?

(A) The emphasis is on emotional aspect
o amiiEd DbssHHE PEHWSHed AsTHEsILHEDS!
(B) The emphasis is on intellectual aspect
oiMeysmi HDESHDE PSS WSSO @5n®a;a;uu@eﬁm§1
The role of counsellor is active
< Cargsilen uki@g Qe o ararg)
(D) The role of counsellor is passive
< Cangsfler unig QswoDDg)
(E) Answer not known
en Qgflweidena
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16. Mal-development of the foetus due to infection such as ‘German measles
1s a potent factor of

‘Qgfiwern gL bew Gurany Qsmpm smrerons smeder seupran euerisdulen

snyewrong ———— ghuBiHng.
‘ﬁr Intellectual disability (B) Gifted children
SHleuripg Quiewmenio mepwimer GLhanssar
(C) Physically Handicap (D) Mental illness
2 L6 earapmComt e Grm

(E) Answer not known
elenL QgMwefeena

17. Defeat of a candidate in the Parliamentary Elections, which of the
following indicates defeat of a ability?

prom@poearns Gaigeadler em Geulumerfar Garaed GemeumaamoupBle ahss

manwuflen Cgreared?

(A)  Sociometric ability ({Socioemphatic ability
sepseilwe Fpen &G o_amiiey e

(C) Social mobility (D) Social status
&S @QWLISHLD &IPS SBSEVF

(E) Answer not known
eflenL Qg flwelewena

18.  Which of the following type of counselling process proposed by Carl

Rogus is

s Grrsev werdomAuitiu L Qereumb euamswitear <,Canganer Qewcperm 61 ?

(A) Directive counselling I‘BrNon-directive counselling
auflsT (s < Cersamer aulaT_ (Hsd s oGorsamar

(C) Eclectic Counselling (D) Dominant counselling
Caibes®asiu_L oyGansaner B HE&D QFqusgIbd o Comeamaer

(E) Answer not known
dllen Qs flweferene
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19.

20.

21.

How does career guidance help a person?
Qsmle e flsm (BB @ BUHEE eiann e saySlng)?
‘K@ To select a profession and prepare oneself for it
o Asmioas CoihOs(HS5 HSHHTE Seramar LMt e
(B) Social to fix himself
sopsitd) senanan &l Qawiwl
(C) To plan a curriculum
@ s0els L gang S8l
(D) To get employment
Geuane eumitsy Gum

(E) Answer not known
Men Oz flweildwene

Out of the box thinking is related to
Out of the box thinking - fismen erga_an Agm_fiLeLwig?

(A) Memory based thinking Divergent thinking
Blevaneumhmed Fribg Sbseen wroul L SAbgsener

(C) Convergent thinking (D) Consistent thinking
eandeaenbg Sbsaner Blenewiner Hpgener

(E) Answer not known
e Qzflwelidana

The other name for counsellor-centered counselling is

, @, Canssisamer ewwinnss Qarar. pGeorsmanuier wHGr@E Quuwi.

'(( Directive counselling (B) Non-directive counselling
s (Hga pGeomganar s (Hse Aders pGarsaman

(C) Eclectic counselling (D) Group counselling
Caib@sBéstiul L pGarsaman & A CGeorsemen

(E) Answer not known
een Qs flweldane
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22. The type of autonomy that involves making one’s own decisions and
following through with them is known as
pmeuflar Gsmbs pyeysmer aBULE LOHMD Seupapls Weupmeusy Cumemp
swr&uflern euana ereucurn SHlutiuGEng?

(5( Behavioural Autonomy (B) Emotional Autonomy
BLSMS WM& o awTi&s swim_ &

(C) Physical Autonomy (D) Value of Autonomy
2 L& &um_é wdlly w8

(E) Answer not known
afler QsMlwedrema

23. Development means of

eueTT&El eramuig

(A) Progressive series of changes as a result of education and
environment
g6l LHMIb sHNIFGSWlar eleareurs wHCuTssTen QgL wrHDriseT

(B) Progressive series of changes as a result of motivation
eargg 8l eflenereuns pHCUTEsTar QST IHMEIGET

?( Progressive series of changes as a result of motivation and
experience
2 BHISD LHMD Sigueusden ellenereuns poHCunssmer QgL wrHDrigeT

(D) Progressive series of changes as a result of maturation and
experience
A8 wHYId SignucusHer ellaereuns wppHCurésTer QgL wrHpriseT

(E) Answer not known
ean_ Qsflwelwema
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24.

25.

Which of the following statements are true regarding Adolescence
Qateiols LeuGest Lhdw GeemD smhnsaie 6g) o a@rento
(i) This age is highly emotional
Qb auwig) WBEa|D 2 e TEssroneang)
(i) Wisdom tries to reach its peak
EHTEILD SFE 2 FFSaMS LW (PUDHEEE DG
(i1i) Self-consciousness decreases

& -2_aTTe @D ng)

(A) (i) only (B) (i) and (iii) only
() vl @o 4 (1) whmid (iii) v G
‘K (1) and (i1) only (D) (ii) and (iii) only
(1) wpmb (11) WL Hb (i1) wHmb (1i1) L Hib
(E) Answer not known
MerL Qs flwaiidana

Transitional conflicts are often faced by Adolescents because
Qe Cuorgaser GLEHLUTGID Qarbumeusdangrer  erdlidararamiLi(beug
gQerammed
(A) They are being treated as adult only
SIQUTEET e euBSeTHeTTS LU HGW HLSSLILIGE DTTEHET
(B) They are being treated as children yet
st Guhamgsar CumaGeu BLSSLILIGEDMTEET
(C) They are being treated as Hated persons
Siau&eT QeumEs Ll L BUTSETTE BLESILIOE DTI&ET
?{) They are being considered neither as a child nor an adult
SIUTHET G Ghas Sidwg Quilue erery sHSLILH S DM
(E) Answer not known
en Qs flweidane
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26.

217.

Parents who are supportive and exert appropriate over sight are called

as

2 MGma@TUTs QHEGL wonb FE65 Cwpurimendd FHUEL QuHCnrigeT
eTan DHePEELILNEDTTSET.

) Authoritative parents (B) Permissive parents
Sflargiiy ey QUG Sigidasiiu’ L QupGom
(C) Authoritarian parents (D) Submissive parents
gieundlamy QunCmmit g uewtlbg QuHComT

(E) Answer not known
eflenL Qg flweldena

Early maturation girls tend to
2 Idu piliEflwen b Quemadr pamardleamg,
(A) Get married later
&MoGLNS Smatd Qeuiso
(B) Score lower on academic tests
s6ils Csroysalla @apeurar QLT QU
(C) Stay on in tertiary education
eparomd Flenavd saweflufer @ mLiu
\{ Break more social norms when mixing with an older peer group
RO LD 85 Gpe|aT sa&EGLGEUTE sidlswrer sups e papsmar Breut
(E) Answer not known
eflen_ Qg flweldrena

Child Development 14



28.

29.

New values in the selection of leaders occurs during stage
of development.

seaaismars CsibasHLLSD yHu vlysar —————— auattdéluden sLL S
Flapdlemmer.
(A) Adulthood (B) Early childhood
WP euwig) <, TDUSTE) GLPHENSLI LI(HEILD
Adolescence (D) Late childhood
@ aranoliti(HeuLD Wpsre GLhasL LHeULD

(E) Answer not known
e Qgflwelerana

Self-socialization refers to

S-S LOWIDTESED TH@ES GNSE DG

(A) Parents reinforcing sex-appropriate behaviour
QupCori urdlandes cugLBSSEDTTSET - AUTHSSLTET BLGS

(B) Children imitating same-sex models because they spend more time
with them
Gwbmssar  @Gr  urdler  wrdflsmen Werupmdpriser  ganefe
SleuisEBLen 2iFs Crrb QeelHHprisar

) Children imitating same-sex models because they realize that this

is what a child of their own sex usually does
Gebmssdar @Gy umdlar wrélfsment Qerupmdpriser ghaEnTe SHISET
Qsrhs urdlarsams Goibs @@ GWhems Curngeuns Glasssren Qelidlpg,
eranueng Sieuaer Ufibg Qerardlpmisar

(D) Children finding same-sex play partners more rewarding because
of similar interests
Gwbmssar @Gy urdar elamerum el GUHGCDIHSES fs uearaflslpriser,
gQarafd @Gy wrdflurer spiaunsar Gnduiad 2 ulflue wHmb apriGorer
Qeraunsdladl(mpg QupiLi’L g

(E) Answer not known
een Qs flweldrane
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30. Who said “adolescence is a period of storm and stress”?

BaTenLoLIhHEULD ETEITLIGI LIWIE DHMID DG Si(PSSSHET STeld eTamm Sadlwe i wimi?

\( Granville Stanley Hall (B) Jean Piaget
Srrenefled evL_mened ammed e AuwimQeg
(C) F. Skinner (D) Erikson
@To oLt Gl et erfl&gan

(E) Answer not known
een_ Qg flwefawemen

31. Identify the identity status referring to individuals who do not have firm
commitments to values and goals and do not make an attempt to reach
them.

wéllysdr wHnb QesEseErss epdurea rLumiiy Gawns LHMD SjeuHenm
Sl pwpsl Celiwing puismad GOGEGD e wimer Blevewulesr Quweny
DHELITETLD &TETEYLD.

(A) Identity foreclosure Pﬁﬁdentity diffusion
DML UIMET Uiy SELWITET LIFeUeD

(C) Moratorium (D) Identity achievement
SML_ESTELD S| WIMGT ETSEM 6T

(E) Answer not known
allen Qsflwelerane
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32.

33.

‘Search for Identity’ is a characteristic of which period of developmental

stages?
‘emLuragdpstar CsLa) eaug s Hooselar aps STas LS
Aptilwey <@ 0?
(A) Old age (B) Adulthood
pgiemo Wpéreuwig
(C) Infancy ‘fﬂr Adolescence
&l& umeuLd @aTEnLd Li(feULD
(E) Answer not known

afenL Qg Mweildrena

Name the identity status of individuals who explore alternatives in an
effort to find values and goals to guide their life.

sautsallan auTpsmss@ aufsm (b LHIHSET wHNL Ga&Esmars ST HiuLd
pupHude vrHn euflsemer T b Huisafen SienLwimar Blanavganaets Quwiflayb.

©

(E)

Moratorium (B) Identity achievement
SENL_ESHMELD S| WITET FTSHEDET
Identity foreclosure (D) Identity diffusion

S wimar (peerhledlLiy SIEDL_WITET LITEUG

Answer not known
Aen Qs flweierene
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34. An Adolescent who faces identify crisis and poor self-esteem is often
caused by

SieLwrer Ap®Esy. wpgd Corswrar swnfluramgamu adiGsrarE@sn @ @arnd
LmeUS (@ 216l THLBH UG

(A) Early Experiences (B) Negativism
DT ST DI LIGUBISET THMpemmeuTsLd

(C) Developmental Disorders 'ﬂgUnder achievement
euaids) Camemmmger &\p gngenan

(E) Answer not known
eflenL Qg flwelerene

35. Which of the following statements is/are true about Adolescents’
cognitive development?

Qerawols umeugSlantlen oifleundoa eueriédlule GeroumeuateunBa erg gflwineng ?

(1) Adolescents are able to apply logical principles in solving problems
Qand umeugdent Ggssmansmarg Siufed siss fHurar Qsrarassamanr
vweru(hSgI$l e

(i) Adolescents are in the preoperational stage of cognitive
development
Gard LmeusHent siMeurbmed eueridlufen Qewur’ K&@ wpheasw Haauld
D _GTETEHIT.

(111) Adolescents are able to test hypothesis
Bemd LmeugHarnt smgGataer Cendés 1pigu b

(A) (@) only (B) (i) and (ii) only

(1) v ECW (1) wHmd (11) w HCW®
(C) (i) and (iii) only 0l (i) and (iii) only

(11) wHmb (1i1) v GGW (1) whmp (1il) v HGW
(E) Answer not known

eilen Qg Mweeorane
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36.

37.

38.

What is an act of absorbing something into the present schema?

sHCLTmsW S S aanguimneig) 2 ereummi@b Cswed ereren?

ﬁ( Assimilation (B) Accommodation
R(mEidlenanriil] TG T T

(C) Schema (D) Stage
b Guen

(E) Answer not known
eden Qg flweiidena

According to piaget the stage of cognition during adolescent period is
known as - : :

QuITQsgL g & sdmiLitig, Sifleumpoed @eateniols Lhaugslen Hlana —————— erany
SP&sUILHEDS.
(A) Concrete operational stage \{Formal operational stage
o miflwiren Qewcoum’_(h Hlevew wpapwirer Qgweoun’ (b Hlee
(C) Sensory motor stage (D) Pre-operational stage
o e men Quwiss Hlane e Qewdur’ ) Hleve

(E) Answer not known
e Qg flweiidvena

The skeleton steps growing at an average age of

@I58 () srrefiung ——— el cuetieuas HimissiSng.
(A) 27 years ) 18 years

27 eu(mL_mBISET 18 qu(mL_rhisar
(C) 10 years (D) 45 years

10 eumL_raiseT 45 Gu(mL_BIGET

(E) Answer not known
eenL Qs flweidwena
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39. Unrealistic aspirations is a characteristic of which stage

WSTTSSLOMM eng eTamLig) eThs euwidlantien Hplifwdy?

Adolescence (B) Adulthood

GarenoliLi(HeuLDd pdlieuwig
(C) Infancy (D) Old age

Gb@sLLIHAID pgiew
(E) Answer not known

elen QgsflweNeeme

40. Acne and other skin eruptions are sources of concern durmg which
- developmental period? '
Gsuu@®  wpgd 9o Csréd  Qeugliysst ———————  euetiEds  sresHa
sauene&@fumes <y@Lb.

(A) Infancy muberty

&g LimeuLd L(HGULDENL_G6D
(C) Adulthood (D) Old age
pélieuwg WP I
(E) Answer not known
elen_ Qgflweweme
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41.

42.

Mala saw in her teenage, there was a sudden change in body size, body
proportions with development of the primary and secondary sex
characteristics. This change represent her
WO S5 anGarsy LhausHe (pgeran HYIL GrarLmbd Hlena uralar LT el 6o
auaTiESlyLen 2 Ld Setey wpmd clfgrésmgsdad HeCrear samLni. Qbs WLIHDHLD
T Glsng
(A) Puberty overlapping period

LI(HEULDGDL_SE GREITMIL-GIT 66N HTELD

(B) Pubescent stage

umeublaneo
6 Puberty growth sprit

LI(BAULOGDLGED GUaTT&E]
(D) Post pubescent stage

Wphasw LiHeublena
(E) Answer not known

e Gz flweidana

Which parenting style is the one in which parents seem cool and
controlling their interactions with their children.

QunGBpriser  GalTeflwnsa|d,  SREET  (GLPHNSEHE@HLGTET QgL sener
s HUUGSSaD eThs QuHCHTHEE MW urre:??
)

(A) Authoritative parents Authoritarian parents

sieurdlany QupGomi sifaryuy e QupGpm
(C) Permissive parents (D) Submissive parents
Sendasiin’ L QupGpmi Slguenilbs QuHComT

(E) Answer not known
e QgMweidana
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43.

Matching Type:
QuTBSFID cuens:

Match the following activities (List I) with the correct planning (List II).
Wemeu(md QewdumBsear (Ul wed I) sfurer S B gian (uigwe IT) Qurmssayb.

List I
qum@I
(a) Staff duties
LGt W mTerTT SL_enLnger
(b) Indoor games
o Ly ellenerwum_(hH&er
(c) Creative activity
uep iy Qeweéum
(d) Deciding a theme for colouring work

GUGITERTLOWILD M6 (BeU6neV& S e

smUQurmaners Sioneaflsga

@ ® @© @

) 3 4 1 2
B) 1 3 4 2
©) 2 1 3 4
(D) 4 2 3 1
(E) Answer not known
elenL QgMwelweme

Child Development 22

List II

utguwie I1

Weekly planning
aurgrb Sy SO e
Daily planning
Slenafl L O ed

.Long term planning

Banm_sre LB
Short term planning
GnHw sre L



44. Which of the following would least encourage a student who wants to
become a highly creative theatre artist?

OF6|D ESLILTEULTET BT &S S@®QEHITE 6fl(HbLD Wwrareiamy Wereumeuaaupled

org)|
<

(B)

©)

D)

(E)

ODHSE 2618 E6l&ED?

Student should try to win the state-level competition will ensure
them a scholarship

wreweisErsE osads Qsrasou 2md deuwybd wrbHe dieTedlevment
Gumiguled Qeupl Qup pwH&éEs CeuamHiwb

Student should develop empathetic, amicable and supportive
relationship with his peer theatre artists

LDMERTEUTSHET S| &8 BTL & HENEVEHTSHEHLGT LIFFTSMUILD, B OMID 4G TEUTET
2 meneu auaTigg &0 EmaTer Gauamr(hHib

Student should devote his time to those theatrlcal skills that you
find the most enjoyable

BrsET &6 D SFEUMTELWILONES SHGID BTL_&F N6 EHEETE DTETCUTHET SEG
Coprsmss Qeweil Gouam(hbd

Student should read about the performance of the world’s best
theatre artists and try to learn

o wfler Apbs BTLESE sm@Eiselear pyloul updl wrareaiser igss)
<MbgIQasmerer (pwhdlés GouamHid

Answer not known

enL Qgflwalerena
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45. Play is an important medium for moral education through which the
child learns
SDCABNE s0ellsE elaarin (B e (pédwwrear sa swrEb, Qg6 gpLD GBS
——————ws sHME Qarardlng.
(A) To explore toys
QUTDENLLEENET YTl
(B) To imbibe his culture
SQMEFTIEHMS 2 aTeumhis Couehr(Hib
‘6 To be honest and truthful
CrirepLownsa|b, 2 @meamwLnse|D 8)(HéEs
(D) To express his emotions
Sleurgl 2 amieysamer QeuefliL@Bss
(E) Answer not known
elen Qs flwelawemen

46. Provision of sand box for sand play among preschool children is an
example of play.

ure  @phmsseileorGu  werd  eleerwrReaush@ ward QUi  eukiES
———— dl@arun (6@ @ THSSEST(H G
(A)  Active 15 Quiet

SO&HOLILITET Siend)
(C) Social (D) Formal

FPG (PEOWITET
(E) Answer not known

eflen_ GsNwelerema
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47.

48.

Outdoor play activities like playing in swing and jungle gym helps a
preschool child in developing

sargraQIL6n eflepamun () wHmid mhddr ibifler efaemur@eug Curarm Geuaflilinyp
BL GG EMESET (6 UM Gphaguier, abg euetrésluild o gaslamen?

(A)
(©)

(E)

Eye-hand coordination Large muscle coordination
SET-anG 6p(HbIdlenemriiL] Quilw sene gHEISlananTLiLy
Fine muscle coordination (D) Aesthetic appreciation
BT Seng G (HaidlenerTLiL] Sipdlwe urgr’©H

Answer not known
een Qg flwedcrane

“Play is the aimless expenditure of exuberant energy”. This is indicated

by?
“eepemim_ () eramug BsWOEEAL yppalen araflu Qewey”. Qs GALILLE ThHS
Garlum(®?
Surplus energy theory (B) Recapitulation theory
o ufl eppoed Camum(® wy uifoeamer Cam_um®
(C) Recreation theory (D) Socialization theory
QumrpgCursg GCamur® gepawwnss Garum@
(E) Answer not known

eden Qgflweidene
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49. Consider the statements:

SAMEMFMW HHGSH D QSTETERHRISET:

One of the responsibilities of a preschool teacher

ure uetefl &l flufer Qurmiiyseaid ey

(1) To other staff members is to value them and their ideas
DO 2eTPlUITEHEHEES SieuiTHeT LHYIL Steuisalen Gunsmarsamer WHLILISTELD

(11) To herself is to be professional
&&GS55TCen @\(m&s Coudhr(Hib

(i11) To parents is to provide them with good counselling
QuHCPTmEE Bie YCwrsamarsame euiis Goua(HLb

(iv) To children is to be strict and loud always

GYbag&6T rLIGLITEID SHMLWTEED, F65LTE D @) HEs CouamEibd

(A) (1) alone is correct (B) (11) and (iv) are correct
(1) v Hw &M (11) wpmb (1v) sflwureraneu
) (1), (i1) and (iil) are correct (D) (1) and (i) are correct
(1), (1) wpmwb (1i1) sfwreareneu (1) wHmwb (11) sRwreraney

(E) Answer not known
eflen QgMNweldena
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50. Match correctly the types of play with its characteristics.

Nearwm_ g6 cuangani Sigarn AplidudysEper sflunsl QUTmHSSeLD.

(a) Parallel play 1.

Gavamrwinan edleperwim’(h

(b) Associative play 2.
@enemt BTL&D
(c) Co-operative play 3.

gl (h BTL&WD

(d) On looker play 4.

LT WLITErTIT grn_a;Lb

@ ® © @@
(A) 3 4 1 2
B) 4 1 3 2

2 3 4 1
D) 1 2 4 3
(E) Answer not known

elenL Qsflwaierene

Watch others play without taking part
in it

WwHDEUTEET ellanemum(heuamsLl LTSS
S LkiE, QsmeTemTTDE @)(HLILIG)

Play by themselves without making an
effort to play with others

whmeursErLer elanemur wpwHsl Celiumoed

grisarTEGel eflenarum(Himsar

Interact with others follow and

influence others

LHDeUT&EHL6T 2ar_m(Hga WwHmID AnenTL
Qenrumhmse

Integrate play activities with others
heuisEsar elaemur@b dewdur@amar

R(BHEIF TS D
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51. shaped rooms are suitable for the activities of a preschool.

QgEl  SBENMSET

QummssLoTaTana.

Rectangular
O&eueusid

(C) ‘L’
(L’

(E) Answer not known
elen QgMwelerene

52. Match the following:
WemeumeuareumenmLs QUN(hEs)s.
(a) Nursery school
mired Leref
(b) Balwadi

LIMeLGU Mg

(¢) Anganwadi
SABIGETE Mg

(d) Laboratory Nursery school

<pieuss BraM Leraf

@ ®m @© @
2 1 4 3
B) 1 4 3 2
() 3 4 2 1
D) 4 1 3 2
(E) Answer not known
elen G flwelérane

Child Development
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QeweurDaErdsE  eaidd

(B) Circular

GUL_L_LD
Square
&GITLD

Below 2 years
2 et (D& EHEHE S
21-4 years

1 - 4 yerHser
Observation booth
sanarenilliL Freulg
ICDS programme
2.8l.1q. a6 Blapgél



53.

Multiple selection Type:

Which of the following are correct?

ue Cgmey euans :

Gwbmsseiler Lum_g &L sHlar Crrésid eraneu?

(1) Enriches first hand experiences
(PSD MG SGLIGUBIEMET eueTliLI(HS SIS DS

(i) Helps create rhythm
BTATEMS 2 (HeUTesE 2 56 HImg

(iii) Encourages verbal communication
aumuQurl Qsm_enu 2aré@els8ng)

(iv) Helps share experiences

gLt LSlTHg QaTeTe 2 6 &mg)

(A) (1), (i1) and (i11) are correct (B) (1), (i1) and (iv) are correct
(1), (i1) wHmyw (111) eflwurerancy (1), (1) wpyw Av) eflwureraneu
(C) (1) and (iv) are correct ) (1), (iii) and (iv) are correct

(i11) wpmb (1v) eflwrerenau
(E) Answer not known
eflen Qs flweidweame

29
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54. An early childhood center has added an additional toddler component for
8 children. Which of the following adjustments must the center make to
accommodate this change?

R(H PTOU GRHOS LHed Wb T (h GLbmSsEnssTar sbhsn @Gnpean Cur@w
gamisener Gembgiemengl. @bs WIHNSHHE QL weflliugne Weareumb ahg sMQsligamen

anowitd Qe Geuam(ib.

(Kf Hiring staff to ensure a ratio of one adult to four children in the

(B)

©)

D)

(E)

toddler group

GopmL CuTBL GuWeld BIaTE GWHMSHEHEE @@ IS GUBSET T
alélssens 2 mdliLB&s LaflwrarTamer LaWDTEs S0

Adding more large-group activities

Cugib Quilu @ QewdunBsmar Caigsen

Removing activity centers from the classroom

au@LiLamDuiled @ mbgl CFLOLITL () aDWLIRSEET BpHDISE

Decreasing the pre-child fee because the toddler teaching staff
doesn’t require as much training and compensation

GopaL Gur@n pAfut vellurl se@éE ids L@nd vomb @S
Coamauuiléreney eTamLISTE Q1 GLHMSHE S _Lamb G®mDnss ILHSH DS

Answer not known

edlen Qs flweferene
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55. Mind mapping is

et Culiln erarLig

(A) A technique to enhance comprehension
yfigene Cubu®iss e Bl

(B) A plan for an adventure
R snassHDETEn L 1D

(C) Drawing the picture of a mind
ardler UL Seng UM THE

Xﬂ{ Researching the function of the mind
wendlen QewuuT e HpTTUISE

(E) Answer not known
erL Qg flwaidena
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56. Choose the correct option given:
A curriculum for the early childhood education involves
Qar@ssiul L sflwrer elmluseams Csiey Qewlis.
GRHmg Lmeu soellEsTaT LUTL S LD eTéld oLhiGL0.
(1) Only work activities
Gauanaw BL6uIgEam&&ET L (HGW
(11) Only play activities
elememwim_ () BL6ugsm&saT L (G
(ii1) Both work and play activities
Gauane wpmitd ellenemuim_({) BL6ulqE@ESET @ TarT(Hib
(iv) Play activities without including dancing and singing

BLaid LHNWD LTL_me Ceisamod elearur () BLouy &mssaT

(A) (1) alone is correct {)(iii) alone is correct
(1) L GGCw sfwnang (111) wHCw sNwrarg
(C) (i1) and (iv) are correct (D) (iv) alone 1is correct
(11) wpmw (1v) sfwurereneu (1v) vl HCw sNwrans)

(E) Answer not known
elen Qzsflweldene

57. The organisation working for the welfare of preschool children is

umert Ghenssaflern baanssts Gewu@uin el

(A) ICSSR Y5 1APE
(C) FAO (D) ICMR
(E) Answer not known

eflenL Qs flweferene
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58.

59.

is the inability to distinguish between ones perspective and

others perspective in Early childhood.

Gwbmsl umausdlad gmelflar warCammgg wHnL WPTCHTEEHMme

SpFlweupenm GCoumuBisHL UMTéEs @ wemeanto.

(A)

(©

(E)

The learning experiences that are provided to children of

Centrism ) Egocentrism
Q&emgfevid rGamtegeg Maud
Animism (D) Humanism
N weaflgGruwb

Answer not known
ellenL Qgflweicrena

are collectively known as early childhood education.

GLRHEMSSHEHEE UPRISUIUHLL SHMD @ILOIBIGET Sl L& <y TbuUs

GYbEsL LHeus sell eTanm iemwssiiLBleamar.

(A)

(©)

(E)

0-3 years (B) 3-5 years
0-3 oy ar(hasar 3-5 gy ar(hser
0-6 years %2-6 years
0-6 <y er(haer 2-6 <y er(hser

Answer not known
eflenL QgMweildens
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60.

61.

The System of preschool education which stressed on educating through
the senses was introduced by

HoegeT eped soelew euallymsgid utem &6l (wpean ————————— Qe
SN pesLLGSSUILL LG
(A) Piaget (B) Modak
QuwirCGey CurCLrs
\() Montessori (D) Tagore
wreryGeml L

(E)

Answer not known
afen Qg flweidene

Identify the core objective of ECE curriculum for the children of
4-6 years.

4 wed 6 awg Eubossersstar BCE um sdi sdar wadlu Crréssams

SEL_LTETLD &TERTELD

(A
«
(©
D)

(E)

Early Stimulation

IO GO He

Learn while you play

Bruser eflanarwmhin Gung &Hmi&6&TET(ERmISET
School readiness

verefl guimidlen

Cognitive development

SiMeumhmed eueTTFS

Answer not known

cflenL Qgflweldranay
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62.

63.

Assertion [A] : The child’s needs in physical, social, emotional and

intellectual areas increase during preschool years.

adlynssd [A] @ urter umusHed oL, 2 ariés wHnw HMeunibs uGHsealld

Gbasuier Csmeusdr sidsfadeamen.

Reason [R] . Preschool through its programme meets these needs.

sryanrd [R] D umel urLgmeoe e Hepsfls Sl gher o rs Qbs
Caameusamanrli L isd Qewidlarmg).

(A) [A] is true but [R] is false

il

©

D)

(E)

[A] erenug) o @manwo, <yenmed [R] erauigy seupmreng

Both [A] and [R] are true and [R] is the correct explanation of [A]
[A]. womp [R] @Qream@w e awewwraeme, [R] eaiug [Al@en sflwnar
NeTéaD

[A] is False; [R] is true

[A] eremugy geupneng) wHmib [R] eremuigy o awanwo

Both [A] and [R] are true and [R] is not the correct explanation
of [A]

[A] wpm [R] @ramhn e arewwraeney, [R] eremug [A] Qe sflwmen
eTESLD SO

Answer not known

efenL Qg flweddenay

At about which weeks of age, the baby responds to adults patting with a
smile?

ehg euny euwdledr, duilweuisafian 5L HsWI&EES GWbHas UsaamsuL e Lufloallsdng)?

(A)

(E)

6 B) 7
5 (D) 8
Answer not known
alenL Qgflweidana
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Birth to 6 weeks

WUy (pse 6 UTTRIGET cuenT

6 weeks to 6 years

6 UTpRIGET (S 6 A aT(NSHET Gy
6 months to 2 years

6 LTGBIGET (LPHE 2 T (NEET GUEHT

2 years to 4 years
2 e (PS5 4 2, @T(H&eT euaniy

(B) 1 and 2 are correct
1 womid 2 &l

(D) 3 and 4 are correct
3 womid 4 &

Which of the following is not a primary emotion exhibited by infants?

(B) Fear

yulw
\ﬂrShame

S| GULDTEITLD

64. Choose the right matches among type
sflwrer Qurmpsshsmar Caibdshsseyb (Phases of Attachment)
1. Pre-attachment phase -

GenarTUIL|&E (PHenSW &L Lb
2. Attachment in making phase -
G enentliL] 2 (HeumdE@GD SLL LD
3. Clear cut attachment phase  —
Qzefleuren Ganantiiy &L b
4. Information of Reciprocal -
.Relationship phase
ugevUT 2 me| SLLSMG 2 (HeUT&H @D
&L
%ﬁ{ 1 and 3 are correct
1 wpmd 3 &fl
(C) 2 and 3 are correct
2 wHmid 3 &
(E) Answer not known
aflenL QgRwelerenay
65.
Yeeu(meuameundled 6T GLbSEET STL_(HD PSETEOLD 2 aTTES SHeew?
(A)  Joy
wAp&E
(C) Anger
Gamuw
(E) Answer not known

cllen G flweldene
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66.

67.

68.

Primary emotions appear

Slgliuent wenbleupgdlger eriGung Carenmb?

(A) Soon after birth
Qopg 2L CarGuw
'({ Within the first six months
PBD YO LDTHBISEHEGET
(C) Within the first twelve months
WPSE LIGTET TeiT(h) LOME & (6 & E6T
(D) By three years of age
ELPGITM| GLIULIS) & (86T
(E) Answer not known
ellen Qg flwelcrene
Among toddlers, shedding tears is a form of response.
Am GLbasse, saantt Apgleugs ——— ArHuadiiiy <y @Lb.
(A) Specific (B) Fixed
GO L Bleneowimen
*6 Generalized (D) Reflex
Qurgienwliu®Bissr L il Fens

(E)

Answer not known
efenL Qg Mlweidena

What is developmental lay in cognition?

Sifleurhme aueTi&Sludled (penGandm LGemerenL o GTeTmmeDd 6T6bren ?

(A)

©)

(E)

Faulty reasoning (B) Unrealistic thinking

SEUDTET STFEHTLD WSTTSSLHD Sbsenar
Misinterpretation of stimuli th) Understanding below one’s age
gramHsadle seumrar edarésn auwgsEfu yiige @éaamanto
Answer not known

eflen Qgflwelevene
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69. The first step in learning to speak is the ability to understand what
others say, this is known as

Cuss shmsQsneataugnatar (s Liguie, whpeuiser Qemaeuamsls Uflbgis Gameresn

e —————— eTa HHPESLILIHF S

(A) Vocabulary (B) Pronunciation
Qemeasrmd o aflliy

(C) Phonation ) Comprehension
geiluy g

(E) Answer not known
clen QsMlwelerency

70. The 3rd stage of sensory motor stage during babyhood is called

GRbams LmeausHd 2 aridner Quiss Hleaoulear 3eug Hlepaenu ————————ararm)
Sp&sliuBiEng.
(A) Goal directed behaviour
Q@&E QuEsLUL L BLSS
(B) Experimentation
ufCengena

(C) Problem solving and mental combination
Hé&6 M@0 LOHMILD DET SOEEL
vﬂﬁy Coordination and reaching contact
mmidenenrliL| IoOmID QST TeL L SE
(E) Answer not known
ellenL Qgflwelerena
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71. Preferring companionship of the opposite sex is called as
adlit urelengsgeuen GCampaninanut 6l(HLOL|GUS)
0( Heterosexual relationship (B) Peer relationship

LrbUer uredlwe 2 mey &8 2 D&
(C) Group relationship (D) Homosexual relationship
&P 2-maey eflang Caidens 2 may
(E) Answer not known
efanL Qg flweidana
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72. Match the type of needs.

Cgenausafler cuamasamers QLMHSEI5.

Type of needs

Cgeneusaflen cuansser

(a) Biological 1.
o_ullflwed

(b) Psychosocial 2.
Feps 2 emellwied

(¢) Egoistic 3.

: DIGHIGTTLD

(d) Safety 4.
LTgISTULY

@ M (© @

<« s 1
B) 3 2 4
© 2 4 3
M 1 3 4

N = =N

(E) Answer not known
elen Ggflwealaweame
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Sub types

GGG CUENSSHET

Need for nurturance
cuariiLys Gaeneu

Need for dominance
< dl&Gan Coaneu
Visceral needs

2 aTEpmLiLs Coaneuser

Need for security

ungsmiL Ceeneu



73.

74.

Which among the following is not an adjustment needed by the
newborn?

Yetreumeuareupler LsTal 9nbseumeE arg &Ml Galng Caaneuuiaana?
(A) Temperature changes
Qeutiuflenay wmHmmiSET
(B) Breathing
&FEUMELD
(C) Elimination
2 L H& sflleysamens B&E@se0
WU( Learning to take solid foods
gL o anre|sanet eT(H&ES HHMISECSTATES)

(E) Answer not known

eferL Qs flweiidena
An important characteristic of is, it is the period of radical
adjustment.
@ &S wirer ua, g ey sMQagellen ST SGLD.
(A) Early childhood ‘(grlnfancy
<Y TOUST GLEHEnSLI Li(HeUD GBS Li(HeUD
(C) Baby hood (D) Toddler
@il Li(HeuLd GnipeL Gurb GLHoS
(E) Answer not known
elen QzsRweiidana
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75. Optic Nystagmus appears during

LG s BlevLméwen —————— & Gung Ggmenmb.

(A) Babyhood (B) Early childhood
@6l LiheuLD <Y TDOUSET GBS Li(HeuLDd

&5 Infancy (D) Late childhood

GRHeMS LiHeuD KpuGue GebemsuLmed

(E) Answer not known
eflenL Qgflwelerenav

76. , In which the body is prone on the floor with the head and

" shoulders raised by supporting the weight of that area on the elbows,
reaches peak between seventh and ninth months.

. @ée 2L soquiled smipg sme wHmb Cardasmer e wiiss),
pprmssaiey <ips ugHular aaLeu STad, gETeug LHMIL QETUSTLD
LDISHISERESE Qe 2 F85ms SiamLdlng).

(A) Skidding (B) Cooing
EMISHEHE 80656
‘C{ Crawling (D) Creeping
2ariifpg) AFaélng sHATD
(E) Answer not known
alenL QgRwelereney
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717.

78.

79.

Food, water, oxygen, sleep and elimination, of waste from body are
included under

o awrey, BiT, <y Gedlger, giésn wHML 2 Ldd Wb sleysmer B&EGsH <dlwame

& SL_BIGLD.

(A) Needs for nurturance (B) Sensory motor needs

eueriiLy Cseneu 2 aurr&d) LHMID EWEEL CHeneseT
(C) Safety needs '{f)(Visceral needs

unggriy Coameusar 2_ar@epmitiL] GHemaeuser

(E) Answer not known
eenL Qg Mwelidvena

Infant can discriminate the location of sound within the first
hours of life.

Gwbms Ypss psd ———— wefl Cpriddger gallar Q@uLgas
CaumuBsd sidlw @pigub.
(A) 110 B) 115
118 D) 120
(E) Answer not known
e Qg flwelidvena

The process by which the cow’s milk is modified so that small, soft curds
are formed in the stomach, similar to that of breast milk, is termed as

sriureal Gureata aulpid Afwu, Quamwwrer Wi e @marEL aumsuild,

Lselen LT LIHH SAMWESILHDL QeLMEpany ——— TaT JAMPESILHEDS.
(A) Steaming (B) Pasteurising

Cousanausgen CuevHiangélm

Boiling (D) Burning

Qsrdgze0 erfigged
(E) Answer not known

ellenL QgMwelerenc
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80. In Infants, diaper rash is caused due to the presence of an
irritant that is formed, when urine stands for a while.
fn swbmssaiie, Ambr Adg Cord Lwufld Ho@d Gung GTEHTM
arfl&gqun_(Hib semeno @ pLiLIGeTa, (LwuT) Qerdl gpuBSng.
Ammonia (B) Bleaching agent
SCwresflum Lafeflm er@agem
(C) Boric acid (D) Antibiotics
Gurflé ofaid Biaramuili erdridsar
(E) Answer not known
elenL Qg fweleranew
81. 1s caused on baby’s skin due to excessive rubbing,

irritating clothing or use of strong soaps.

siflstiguner Cauigsd, aiésqil (b oLEET SHowg cugeurar GailiLsameTL)

vweatu(hisgleugme Gwhasuiea Cameller ————— ghuBHng.
(A) Sweating (B) Rupture
elwrggen @eulg iy
(C) Swelling v Chafing
e&a&LD <ifliiy

(E) Answer not known
cflen Qs flweleane
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82.

83.

84.

The ability of an infant, to look at near approaching object, on the first
day of life is termed as

ampsamsulen psd prafler, Ap@Hiid aumb QummemeT LTTEGD Gheaguier &near

T SNPEHSILIHE DSI.

(A) Perceptual fixation (B) Sustained fixation
yogyanriey Hlapaiuim( B4 58 Blaneliun(y
Incipient fixation (D) Cognitive fixation
QgrLsés Hlenelium(p SiHleurdmed HlanaoriLim(h

(E) Answer not known
en Qsflwaldene

A child starts to cry when someone takes him from his mother lap. The
child cries due to,

e, Gubosamu sruder wuld Qmbg TOEED Cung 2ips AsTRGEDS. Q5

(A) Separation anxiety (B) Stranger anxiety
Qfley gL b SiBBlw usLLLD

(C) Social anxiety mmotional anxiety
&ep& LSL_L LD o auri&dl LgLl L 1D

(E) Answer not known
en Qsflwaelerene

Kohlberg’s first stage of moral understanding is

CaraQuisder HnQpM Ligader wse Hlae

(A) The post conventional level  (B) The conventional level
LIL&EE GBS Hlana auLp&sLTaT Hlana

) The pre conventional level (D) Principled level

LILEE (PHasw Hlane Qamerens Hlene

(E) Answer not known
e Qs flweldana
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85. A Behaviour that is followed by a rewarding stimulus is more likely to
recur - This was stated by
vearellésn gramhgord QaruppluBin o bréms Bar®n Blayw eumiiiiyererg.
Qeueummy goluig
(A) Pavlov’s classical conditioning theory
umeuGered Slemmflase seag eageflmiGsm_um(
‘({) Skinner’s operant conditioning theory
evdlanamflen Qewicur’ () samgasaln Carl_umr®
(C) Bandura’s social cognitive theory
unar(hrmredlen Feps Sidleurdmed Cam_uim()
(D) Piaget’s cognitive theory
QuwrQeL g e eifleurhpe Csr Lr@)
(E) Answer not known
edlen Qs Mlwefedrene

86. Answering the questions, ‘Who am I'? What is my place in society?
Happens during stage as proposed by Erikson.

e wrt  erenm  Gserelld@ uda? sepsshed aar @QLid  eremen?  erfldgen
er@wmAbgLy ————— s L S HLEGEGLD.
(A) Initiative Vs Guilt
e puhél adlyrs GHo e ey
(B) Industry Vs Inferiority
QAsmfle erdlgns srpay
(C) Intimacy Vs isolation
Apm&ad ardyrs saflawliu@sse
) Identity Vs Identity confusion
DLWITETLD TEITTE DAL WITETE @GLPLILILD
(E) Answer not known
eflenL Qg flwefeweme
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817.

88.

According to Erickson’s psychosocial stage, generativity versus

stagnation occurs during developmental period.
crflgsaflen 2erellwdd gups Hlaveuwlerg, 2 pusds Hoer wrprs Csss Hae
cuenigd sragdle Hlapdlng.
(A) Oldage ‘ﬁ\/ﬁddle adulthood
Gl BBSsT QUi
(C) Young adulthood (D) Adolescence
@ad auwig) LSEITLD euwIg)

(E) Answer not known
efenL Qs flwefdena

Sneha works tirelessly to help child labourers escape the inhuman
conditions she witnessed in the match factories of Sivakasi. She does
this because she believes it is the right thing to do even thought she
finds herself in life threatening situations. Sneha demonstrates which of
Kohlberg’s stages of moral development.

fasrfdllder  SUCuL Qsmipgsreasaiss oeur sl waflgmdwranonm
Hawmwvsald Q@bE Gimss QsmbararisersE sUkss 2 saljushans SACasm
WM 2 GADTT. eudm @ass Qeleug gQamemprd eumpsmsuidy sflumer
Qewdager  GFicug @afuemobwng e oanibs sor 2 uliEg Ol Ldser
aupsCurgib gaflfprer. Casrapd@uisedar smils euemisflllear abg Hase
araueng SlGanam eleng @ mm.

(A) Individualism, purpose and exchange
saflggieud, Grrésd wHmib uflwrHob

(B) Social systems morality
Fop& SianLoLIL&6T nEBHH!

(C) Social contract

&S UILIHGLD
‘f{) Universal ethical principles
2 ogarraflin Qi peand Camummger

(E) Answer not known
alenL Qg flweldana
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89. Assertion [A] :
spm [A]
Reason [R]

smyentd [R]

Freud’s psychosexual theory emphazies the
importance of basic needs and biological forces.
dominger wCarmumadlwe Carlurlh Sglium g GCgameuser
wonb 2 uilflud s&haafien pafusgeusams cuadlynsgdlmg.
Erikson’s psychosocial theory is more focused upon
social and environmental factors.

erilsaafen 2 erallwe Fopss Camum@h) Fops LOMLD FDHDIEFE:LPED
sryanflgefie oiHe seuand Qeqissfng.

(A) Both [A] and [R] are true statements and [R] is the correct
explanation for [A]

[A] womd [R] @ran@w e arew wpmw [R] eaeaug [Alsstar sfwmrean

NeTsaid
Y@( Both [A] and [R] are true, but [R] is not the correct explanation

for [A]

[A] womd [R] @Qraw@n e areow <yame [Rleeag [Aléster sfiwrer

MNETESHLD B

(C) [A] is a true statement, but [R] is a false statement
[A] eremigy o @manio yammed, [R] eremuig) seupner oifléams
(D) Both [A] and [R] are false statements
[A] wogw [R] @rar@w seuprer eiflsas
(E) Answer not known
een Qsflwelawame
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90.

91.

In Piaget’s theory, Adaptation consists of two complementary activities
such as

QuinGgeilenr  Gamlumiige, supeud, ———— Curerpy @Qrewrhid Aoy
Qewdur@®smend Qara(HaTerg).

'6 Assimilation and accommodation
@(Hrflepent il LHMID ShIGLSL LD

(B) Mental representations and assimilation
e rSlHlEsgeun wHmID e (mhidleanamrii

(C) Mental representations and accommodation
waer 4ré Hldlsgeumkiser HmID &kiGUILLD

(D) Equilibration and assimilation
gwhlane LHMID e(HBISlenesTLL|

(E) Answer not known
eflenL Qs flweidene

Intensive swimming practice to demonstrate the skill of swimming
represents which of the cognitive element?

“Bssallen Spenoenw Bemdés Sally Baed LD’ - Gg EC 2 dTar eThEs SiBlourHmed
:D_gm;l@nu G EEAY:N

Attention (B) Retention
SEUGTLD SEHHMEUSHSHE
( Memory (D) Motivation
Hlenamey (PpunH
(E) Answer not known
eflenL Gsflweldwene
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92. The second stage of Piaget’s theory of moral development which leads
children to no longer view rules as fixed, but see them as flexible socially
agreed principles is
QurGseller @B euatidfls Carlumiiger @ramemd flanw, Gpbassamaer @efl

ddlsamer  Hlavownarsral UTT&EETLS, Seubep Cpdpeurar, &upsd  @LILS

Qamereriiuil L CameaTanssarrals UMTEs eufleu@riug ——— earariuHib

(A) Realism W8 Morality of cooperation
WSTTSSEUTHLD 55U 6N (p&aD

(C) Moral judgements (D) Heteronomous morality
SnEBH Srliser LIGT(LP& ¢(LP&&HLD

(E) Answer not known
elenL Ggflwelerene

93. ‘Piaget’s third stage in cognitive development extending from 7 to 11
years 1s

7 g 11 yampser euanpulleoner sidleurhme euerigflufley NwirCmeden epermreug
Hlenev

(A) Preoperational (B) Formal operational
e Qewdum’_©) papuwirer Qeweum’
Concrete operational (D) Sensorimotor
o mFlwirer Qewum{ Leuel @ W&s

(E) Answer not known
elen Qg flweldane
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94.

95.

A child of 6 or 7 years old is not able to accept other’s view point because
6 i@z 7 g GWHaMSWT Hmeisaten &msms s (PlgwiTg)? ehlerearmme

(A) He is too young
2EGYHmS WO&S6 D Hlweur
(B) He is not intelligent
Si&GLbang LSSl Gene
) He is ego centric
EGPHNS B6 GTETEILD (panaTLiL| Cl& e _our
(D) He is Imaginative
EGPHMS SHLIemar Fmen Qlgmeir_euit
(E) Answer not known
e AsAweldane

The theory that focuses on the inborn capacity of infants to learn
language is

Gubmssar Aurfaws apns Qsrdreugnarear o darmibs dnafld saamd AegISsd
Gamlum®)

(A) Behaviourist theory (B) Nurture theory
BLE®S5S Camum( pirgsr Gam_um(

(C) Instinctual theory ) Nativist theory
@ enavigsaeus Camum(® CrLligeflevt Camum(

(E) Answer not known
clen Qs Mlweidene
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96. A built in store house of rules common to all human languages as per
Chomsky is called as

97.

98.

grevdufenuiy Simansg weig QLTASEREEL Qurgeurar senLuld sl iUl L aifH

(A)
(©)

(E)

aTen Sep&E&ELILIHEDG).
Universal phonetics 6Universal Grammar
2 @germalilw edliiy 2 agemrellu GesgemTid
Universal pragmatics (D) Universal semantics
2 &aTM6dl W BEnL_(LPEnMHEET 2 avgermeilw QFrHQummar

Answer not known
elen Qasflwefewene

membrane helps to keep the temperature of the prenatal

world constant.

geuay, LELGUMIGE WHULL srasder Ceuliuflamaamwu Hlaawnagrs

@eusEl 568 2 56 NS
(A) Chorion m&mnion

Qeuafls flanarsams seua] a(maneu QpmmIdF &OHHuarer Fouay
(C) Placenta (D) Umbilical cord

BEh&HE Glamig. Qamier Qamyg

(E)

Answer not known
elen Qgsflweldene

How many main stages of moral development are there?

gmiSs cuariéflufe ergsene WPEEW UL RBISET 2_draTe?

(A)
©)
(E)

1 ) 3
5 D) 2
Answer not known

ellen Qs flweildaney
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99.

100.

101.

According to Skinner’s theory of operant conditioning children learn
from consequences of

e dlemesen Qeweur’ s Camlum_ig e g, GLPHESEHET TS G
Qerellanera|saflel(mbg sOM&QsTaTSDTTHET
('{Behaviour (B) Motivation
pLS®S PuHé
(C) Drives (D) Responses
QL (Herrger udlevger

(E) Answer not known
e Qs flweiidena

Which of the following theory is known as the theory of Reinforcement?
Wemaumid Camlun®safle arg eugnap L d GCarun@® aenm HepssLLBhSng?
) Operant conditioning theory (B) Stimulus response theory
UUTeT samgagetin Carlum( grawhse ugled Camum(
(C) Classical conditioning theory (D) Theory of Insight
Herrflsse samgagefltCarum( Biaantdley Camium(y

(E) Answer not known
efenL Qs fMlweildana

The insight theory of learning is promoted by

spmaden m&ran ey Camum®h ———— GQaugned eardGellssLLGEDE.
(A) dJean Piaget theories (B) Vygotsky theories
e Qwr@gl Camlur@ser aauGarlevd Carl_ur@hsaer
Gestalt theories (D) Pavlov theories
QaevL_mer Camlumhser umreuGareu Carl_um@Hsar

(E) Answer not known

eflanL Qg flwelwene
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102. Assertion [A] :

gapm [A] :

Reason [R] :

sryewto [R] :

Brofenbrenner’s ecological system theory views child
development as a complex system of relationships
affected by multiple levels of surrounding environment

Brofenbrenner’'s @ar @adlwd s@wiysdar  Garlun(
Gwbms euetigdlenw s&HOlwerer &HMIFGWlen L HlanageTTea
urdlsasiiul L 2 peyseflen fsswmar siewliLngs smgISng,.

Brofenbrenner divided the persons environment into
four different systems the micro, meso, exo and macro
systems

Brofenbrenner’s puflar  @poo  Brearg  QeucuCGeoun
siemwlysermsl  GAAssmT  ewsCrrdleviw,  SCsrflevid,
er&Gavnflevid, CusGrrélevLLd

) [A] is true but [R] is false
[A] e yammed [R] seumy
(B) Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wimd [R] @rear@o earenw wpmb [R] eramug [A] @er sflwinar eflerésid
(C) [A] is false [R] is true
(Al saup [R] o
(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

[A] wpgd [R] Qran@n o awew, <ard [R] eeaug [A] @er sfwnen
eflaréabd Gdena

(E) Answer not known

elen_ Qs flweldrene
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103. Based on Bronfenbrenner’s Ecological theory which of the following
statement are true?

Ligrens.QuemQgenarflan @palwe Cam umiger Siqlueiulld Wereumn sapnisete
TGl 2 _ETEnLD?

®

(i1)

(111)

(A)

©)

(E)

The ecosystem involves the culture in which the individual lives
SOMIEGWPE GTETLIG SENBLIT QUT(PLD SOMFETISMS 2 aTeTL &&lWIg).

The mesosystem involves relationships between microsystems
BCerdlev_tb-anw&Crm HlevL s EnsE Qe ularear 2 pa|samer 2 eTeTL &&lwg)
The microsystem is the setting in which the individual lives

W&EITH VLD eTaLIg) SETaTS6m UM(LPLD HELOLILIMEGLD.

(1) only ) (i1) and (ii1) only
(1) w’_HGw (i1) wpmbd (111) w HGwW
(ii1) and (i) only (D) (i) and (ii) only
(ii1) wpmd (1) w GG (1) womib (1) w HCwL
Answer not known
e Qs flweldrenc
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104. Which among the following is not a purpose of detection under the
pre-conception and pre-Natal Diagnostics techniques Act, of 1994?

1994 <ib yawmgen @per, HmSsAiy wOHML wWsLGUNESE wWHul L Crmudge
BILURisET & SHlan S1p sam_Hleusharar CrIEs0D 678 e ?
(A) Chromosomal Abnormalities
G&CrmGurGannmed HFTGTrahIGaT
(B) Haemoglobinopathies
anGom@gGeatmeanugsar
(C) Sex-linked genetic diseases
unallenggiL e QgmienLw wrLgsy Grmi
‘f{) Sex determination
- uneller flfarmun
(E) Answer not known
elen Qsflwelerenew

105. Under the POCSO Act, the term ‘child’ has been defined to mean any

person below the age of years.
POCSO s gflan &, ‘Gubws eeaug ——— GGG UL L erhgQeun(s
BUTWLD GN&@ELD.
A) 25 Zﬁs
€ 14 (D) 12
(E) Answer not known
elenL QgMweleweme
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106. Which Article of the constitution of India prohibits trafficking of human

107.

beings and forced labour?

@Qipdu  srfluemoidear bl Gfley weaflls sLgsmewb, Csmhererismer
sL_Lmulu@sgieuansiyb el Qeliflng:?

(A)  Article 14 mrticle 23
Gifley 14 Gfley 23
(C) Article 24 (D) Article 15
Gfley 24 Afley 15
(E) Answer not known
enL Qg flweidena

Formal child Advocacy in a Juvenile court is NOT needed in
Aprit $HwapsHd (papuiner Gbaset awssdle T erlGurg Caameu @ e
(A) A child abuse case
Smieur gepdrCuns euss
Y{) A case when an 18 year old breaks the law
18 auwig) pU 8L Sans Bmib aUlpé,
(C) A child neglect case
Ghms Lnssailiy e1psE
(D) A case when a child breaks the law
R GRS LS Sy apss

(E) Answer not known
aflenL Qgflwalerena
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108. are the special institutions to help the juvenile delinquents
to change their behavior pattern

Ao @omeurellsdt ghsET BLSMS (perpeW WLIHD 2 geybd oLy

QJQJGUI'I'B.IG;GTT
\( Borstal home (B) Rehabilitation centre
Cunieved 63 LOMICUTLPE GILOWILD
(C) Special school (D) Therapy centre
Aol veref fldléens epowibd

(E) Answer not known
elen Asflweleame

109. Delinquency is a problem associated with which of the following stages?

GOnEdswed (Qrdlangened) eraniu@Bn  Gpésmer  ahs Umey  Hlevau|Lar

QamiryenLwig?
(A) Old age (B) Adulthood
(PSIEMLD LI(HGULD pdieuwig) LD
(C) Early childhood ) Adolescence
DYTDUSTER GBS LI(HeuLD Germibd g Li(HeuLD
(E) Answer not known
elen Qs flweferencn
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110.

111.

A child who is exceptional in the amount of his production or a
combination of these; a child who may do much more school work than
the average student, does the work faster and performs with much
higher quality is called as

QM Gebos, sag o bhusdiar  oete) dog Qeupdlear  swmeude
Adelessangd, srrefl wrameismer i udtefl Ceumasmar lsLIEE(LD
Gauswrseyd Qsiyb dner Qarar®, Ceumasamer 2 wiibhg srsgiLen Celuliu@b
GYhM&en L ———— aTann AMWESLLHEDS.

(A) Emotionally disturbed child

o a1 fHwns urdasasiul L GWhensser

(B) Maladjusted child

SigFflunm GLHea ST
m)( Gifted child

o wTdlper eumiibs GLHMSSET
(D) Backward child

Hanghflu @GYHeansser

(E) Answer not known
Men Gsflweidena

Wechsler scales is a test used to measure

Qeuaigait GuCaeE eTamig) ————— SieTel 1) Lwau@RD @ Cergeman fetai(.
(A) Height (B) Weight

o_WITLD GTenL
(C) Eye sight ) Intelligence

ST Limenay Bl GTERT (6

(E) Answer not known
eflenL QsMwalerene
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112.

113.

Signs of gifted child are

Soenwwimer Ghbaguier oM@ Haar

(1) Novelty in Expression
Qeuarfliimiged Lglento

(11) Curiosity

S TEUD

Talkativeness

Cuéagdmen

(111)
(iv) Hyper — Activeness
<ifls sFmL

(A) (1) and (iv) only

(1) womid (1v) LW
(11) and (iv) only
(11) wHmb (1v) w Hib
Answer not known
eflenL Qs flwedene

©)

(E)

Infantile beriberi is caused by

GWbds LHausHHEMw QuAGL
(A) Vitamin A

meul_L_LOe &F
(C) Pyridoxine

souflnsfesn

Answer not known
eflenL Qg MweNerene

(E)

Child Development

.‘mt/(i) and (ii) only

(1) wHmiod (11) L Hib
(D) (1) and (iv) only
(111) wpmb (V) L Hid

60

deficiency.
G@DUUTLL M) gHuhidlemmg.

Thiamine
swimdlen

(D) Vitamin D

aneUL_L_LOIG Ly



114. Choose the right matches among type

aussE GoLGu sfluta QuTmEshsmas CoibASHEGALD.

1.  Normal vision — 6/6 — 6/18
Quiéeuner unenes — 6/6 — 6/18

2.  Low vision — <6/18 — 6/60
GPDHS Lintenael — <6/18 — 6/60

3.  Severe visual Impairment — < 6/6 — 6/60
sHawwrer urimeld Gampurh — < 6/6 — 6/60

4.  Blind - 6/6 — 3/60 '
Mm-S Lmiamal @e@pui® — 6/6 — 3/60

(A) 1 and 3 are correct ) 1 and 2 are correct
1 wpmb 3 &l 1 wpmib 2 &l

(C) 2 and 3 are correct (D) 3 and 4 are correct
2 wHmd 3 &l 3 wHmd 4 &

(E) Answer not known
een Qs flweiidena

115. Gradual weakening of the skeletal muscle causes

GTEIDL| SEEFSHET Llg LILIg WIS LIQGIGILOEN LGS TE) ————— ghu®Smg.

(A) Cerebral palsy ) Muscular dystrophy
QuI(BEPEET GUTSLD gangpri Caiay

(C) Multiple sclerosis (D) Meniere’s disease
udeuas 2 anufCHm Quaflwi Grmus

(E) Answer not known
Mev Gsflwaidame
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116. Name the general term used to describe a loss of sixty decibel (dB) or
more in the better ear in the conversational range of frequencies?
<iflfCeuamsaflen 2 equr_ed aupb9e fnps srdd smug QLiue (dB) o
2A$5HE CupulL @uieu dleuflds’ Lwau@SsLLGDL Qurgeurar eurigamgular

Quuwenré @MU eyb?
(A) Deafness (B) Hard of hearing
&g GaarrenLo CslugnE, slqabd
'(() Hearing impairment (D) Hearing loss
Qe Amer Gepur® QzellgSmen Gipiy
(E) Answer not known
eflenL Qg flweleene

117. “Graded curriculum” is an educational approach which is used for
children who are

“Lig Ciug wimen UL gSc L’ GTaTLgy _ GLHDSEHEHHGL
LweTUHSSLILHWD QR S66i iemIEP®DWIMEL
(A) Visually Handicapped ﬁtellectually Disabled
LTTenal GenUT(H 2 oL w6 Sidleysmi oaraphHmeu
(C) Hearing impaired (D) Physically Handicapped
QealigHmen @GenpumHeTereurt 2 LG etam(pHmeu

(E) Answer not known
dlen_ AgsfweNene
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118. When hearing impairment occurs before speech and language patterns
are acquired it is called

Gués wHg GQurd eyeksmar QumeisnE wery dselsdpar Gmpurh

gHuwCung g —— erariu@i.
(M Pre-lingual deaf (B) Psychogenic hearing loss
par@Qumfl srgCaarrGgmt aesCaThgnails Gal_@h @iy
(C) Conductive hearing loss (D) Post - lingual deaf
L&D Cal @b Gl Wbemgw Qumfl srg CaernGgmd

(E) Answer not known
e Qs flwsildana
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119. Hearing loss can affect what kind of development?

&gl CHeTTEnLD 6ThS eUaGWITEN eueTm&Slenws unl&EEL?

1.  Speech Development
Cué&a cuerigd

2. Language Development
Quomf euerigs)

3.  Physical Development
2 L 6 auarTiés

~ 4. Moral Development

<n@BM cuarTss
Choose the correct answer.
gflwurer eden_anw CapOsMH.
(A) 2and3

2 wpmid 3
(C) 1land4

1 whmib 4
(E) Answer not known

ellen Qs flweleene

120.

(B) 1and 2
1 wHmid 2

(D) 3and 4
3 womib 4

In which year the Rights of persons with Disabilities bill was passed?

s pean(h wrHmS Hoameflsaiien 2 fawser wCsrsT BlenpGeudmiiil L g ?

2016

(C) 2012

(E) Answer not known
ellen QgMwelerane
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121. Which law gives the definition of 21 disabilities in India?
@Qdureda o drer L kigafled g s 1b 21 @GeppunBisemer o aTer G&luig)?
(A) Persons with disability Act, 1995
sarapOComT L 1b, 1995
(B) Mental Health Act, 2017
e sLib, 2017
(C) National Trust Act, 1999
Caélwu oméa_Lener &L b, 1999
f{) Rights of persons with Disability Act, 2016
saraipmm Buisefien 2 Mepng gL 1b,-2016

(E) Answer not known
alenL Qgflwalerenaw

122. Choose the disorder, which has the symptom of difficulty is controlling
or using muscle groups
gwEs  @Gpssmars  sLHUUBSSHSD  Dd@F vweatu@sgeude  frwgler
SifEHeows Qarear, Caratmarns CaTH0sHES6D.

(A) Leprosy Muscular Dystrophy
QsmupCrmu SOEBMT Slange]

(C) Multiple Sclerosis (D) Multiple disabilities
weig 16T auflatGrmdlen L& GaDUTHSET

(E) Answer not known
eflen Qs flweleoena
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123. Which of the following is the correct formula used to calculate intelligent
quotient (IQ), where MA stands for Mental Age and CA stands for
chronological age?

pawaley ey (IQ) san@lgiugpsrar awritiue@® (MA - weareuwg CA -
sraveuflens euwig)) eremen?

/ MA CA
A 100 B 100
) a0 B
(©) A x MA (D) MA x CA
100 100
(E) Answer not known
eflen Qg flwelerene

124. The behaviour problem in which the child shows strangeness and
previous painful experiences is

GYhas e85l HMID WHMSW 66 BieLIREISmaTE ST O BLéas WArsdamen

(A) Destroying things Having fears

QurmLseamer Sl g SFEFMRIGET Q&TaTLena
(C) Stealing (D) Getting out of bed

EIGICER) uBémsuiler Qmbg CeuallCuimyge
(E) Answer not known

elen GsNwelerenc

125. Bet-wetting at night is a matter of concern, when it happens after the
ageof ——— years.

awgEs YWne, @rele L@smsule pmarag’ seumesEAu eflaywib
BGELD-
A4) 2 (B) 3

el 4 (D) 5

(E) Answer not known
ellenL QgfweNérene
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126. Involuntary defecation is termed as —————— with regard to behaviour
problems in children.

Gubmssdar gaafldmauns weob &HLLE  edemsunar LUTELEGDEG permen

GLbangsatien LeTL]?

(A) Enuresis Zﬁncopreses
eremmy,fflen cranGasmaAQrélav

(C) Masturbation (D) Travancy
SW@\emULD LmidL

(E) Answer not known
e QgMwefdenay

127. The principle underlying habit formation is

LLPEGSMS 2 (HOUTEGLD Sliq LILIaL & CI&mETens ——————— ShGLD.

A) Motivation (B) Punishment
PpunHé &GTL_Gnen

(C) Toleration (D) Substitution
gSlULssemento LrHm

(E) Answer not known
en Qs flweicrana

128. The theory would be of the opinion that students study hard for their
personal growth and development?

wremeisdT  srseT SeflliulL  eueriFd)  wpmd  CbuTlyHENs S eTomsLU
L SAprigar crenug Camun® sMSSTS QHEEGLD?

(A) Bandura ) Maslow
uimegr(hym wrevGeom
(C) Skinner (D) Piaget
eudlesteuit Quir@egl

(E) Answer not known
alenL Qgflwelerena
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129. —— are behaviours rooted in the stimulus-response associations
that have been acquired through learning based on reinforcement.
TG Uiyl L 6fle g litient_ulleh &HME eyped QupLiLil L gramHiseo
ugled Qgrysafld Gouepandlu pLSensaaTr.

(A) Attitude ) Habit
wGarrumeutd LILP&ESHLD

(C) Aptitude (D) Temperament
58 @ewrid

(E) Answer not known
efenL QgMwalwene

130. This is known as the period of transition which involves a number of
changes in body and mind.

Bg 2L dlgbd, waded uw WwrHpEsmEr e deTLsAL LIHDSHT HTD 6Tan

St fng.

(A) Late childhood (B) Adolescence
WhuESuier @b LmeuDd GlaTenwoL LiHeuLDd

(C) Early Adulthood (D) Late Adulthood
Wpdliteug) s yoLID g @arenols LhHeuLD

(E) Answer not known
eflen QzsMwelaeme

131. Erickson’s initiative versus guilt stage occurs during

arilGsaflan wpern pwmé wIHTE GHD o amiey Hlerew ——— eueriédlé eSSl
fapdlng.
(A) School going period mreschool period
uerafl Qgdgid sreold LIMQIT LI(hHeULD
(C) Toddler hood (D) Infancy
GYhas LmeuD DEEGLHDS
(E) Answer not known
alan_ Qsflwelaweme
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132.

133.

Assertion [A] : Apart from academic learning. It is important to focus
on the socio-emotional needs of the child.

adunsse [A] @ sodl sppd gy, Gubmsuiar sups o amitéfls Csmousafla

seuand Qeg)sgieug) (PpEELID.

Reason [R] :  Emotion plays a significant role in cognition.

smyemrd [R] ;. aflaurppedles e anisdl @  @EHNUALSsEs ursSlrsms
ufladlng).

(A) [A] is true, but [R] is false.
[A] &A <ypenmed [R] seum
(B) Both [A] and [R] are True and [R] is the correct explanation of [A].
[A] womb [R] @rar®b o amenw [R] eramug) [A]@er sfluren sflatésn -
(C) [A] is false, [R] 1s true.
[A] seugy [R] &
6 Both [A] and [R] are true, but [R] is not the correct explanation
of [A].
[A] wpmp [R] @ran@n edrow <pamd [R] eeaug [A] @er sflume
eleT&sLD @)evana
(E) Answer not known
MevL AgMNweidane

Discrimination of children on the basis of race is termed as

Bansden oigliuaL e, Gubossme UTGUOSSE sTHeug ———— @
SDP&SUILIHEDS).
(A) Sex Antagonism ﬁ)rejudice
urelwe e9Crrgb (POFTTL| CTEHTERTBISET
(C) Conflict (D) Relationships
FETEOL_, FFETE 2 ME&6rT

(E) Answer not known
enL Qs flweicrane
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134. In Piaget’s theory during the concrete operational thought, when the
child focuses on several aspects of a problem and relates them, rather
than centering on only one, it is known as
Bwlglyer Carium o, 2 purar Qewaurn HiF fpsmanda Curg, GLH®S
@ YGrédlenanllen L Sbsmsaild seauab Cegss Seupans AsTLILUESSID

Gumgy, QETENM L (H MOIWILDNES Q&g (HSSHTLO6, 8
erer SflwuiLB g
(A) Conservation (B) Evaluation
UIMTGISTLL LY WTRIC)
) Decentration (D) Reversibility

Qadley WBeTgeneno
(E) Answer not known '
elen_ Qs flweleene

135. Which of the following emotion is likely to be experienced by a student,
when an activity is experienced by him but he is given low control to
execute that

Meteumbd eTps o ammiéd @@ wrameust igLeEsEsEEOL, G Qsuma euet
Sigueisgn  Curg umsE Soss deweruhss @onbHs sLHLUT®H

AL QLN

(A) Anxiety (B) Boredom
FEUME gedly
Frustration (D) Shame
FLOMMHDLD S| GULDTETLD

(E) Answer not known
elen GsMlweerena
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136. The most rapid vocabulary development occurs in which stage?

ahg LHeusHa s elanreuren Qemdesyrdl auatiésl gHuBiD?

(A) Infancy Preschool years
GBS LI(HEULD umeT eTarl Lheuid
(C) Late childhood period (D) Adolescence
WHuEs Grbens L(HeLD @aTid Li(HeuLD
(E) Answer not known
enL Qs flwalcrene
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137. Assertion [A]

audlynsse [A] :

Reason [R]

smyentd [R]

Language development takes place only during
infancy and hence adequate. Stimulation should be
given only till infancy.

Qumfl eueriddl @wnas LmBausHd WL HGCWL BoLAunSDS,
aenGeu Gungiomer graTHSD @GRHag UMmeud euay L [HGW
Qar@ssinL Geuamm@Hib.

Negative environment during early years have many
long term consequences.

YTU parhisefledr erdliveapurer Grd ue Barl s
eflanareysanemuyb gHUGRSSEDS.

(A) [A]1s true, but [R] is false.
[A] e, yanmed [R] soumy

(B) Both [A] and [R] are True and [R] is the correct explanation of [A].
[A] wppw [R], @ran@w o arew, eyeamd [R] arerug) [A]@er sflwmer

NleT& &L

€ (Al s false, but [R] is true.
[A] erénugy seumy, spemmed [R] eremugy &

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A].

[A] wpmpo [R] @ran@n o arew, oyeamad [R] aenug [A]Wer sfwnen
ANeTESLD e

(E) Answer not known
eflenL Qg Mlweldena
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138. Assertion [A] : In preoperational period a child classifies in a crude
manner.

adlynysse [A] @ Qeudur (&G hosw sToFH®, GRbMUTS QUDMEUNS
ereuails LIHDHD G euamaiLBSsI$ns.

Reason [R] . In preoperational stage children’s reasoning is based
on limited criteria.

snyend [R] : Qeweur (&G whmsu Howwld Gubasseia uGssdley
auapuUmEsLILL L SeteCarhsmer Siiq L wnss CeTarg).

(A) [A] is true, but [R] is false.

[A] erémug) o a@manio, spanmed [R] eremuig) seuprnang
) Both [A] and [R] are True and [R] is the correct explanation of [A].

[A] vogod [R] @ran@on earewwraemes, [R] eemug [Al@en sflwmen
NerésLd

(C) [A]is false, [R] 1s true.
[A] eremugy) seupnang wHmid [R] eremug o aweno

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A].
[A] ombd [R] Qrem@ib 2 amaowraieel <y,eme [R] erenuigy [A]@en sflwimen
NeT&ESLD DL

(E) Answer not known
Men Qzflweideme
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139. Hypothetic - deductive reasoning is possible during the ———— stage
of cognitive development as given by Piaget.

BwrCgl. euphdlu eifleumpned euariEfluies ———— Hameude sigorarnd -
gLudlyb uEssHlay sTESLLTEDS.
(A) Sensorimotor (B) Preoperational
QeeremfGuri_Lmf per-Qawdum’_{
(C) Concrete operational ) Formal operational
2 mFlwirer Qgweum_{ wepwrer Qeweur’ ()

(E) Answer not known
elen_ Qg flwelerene

140. Match correctly the somatotype (Classification of human physical type)
with their characteristics

ellE 2L euensamw Sieuphler GamrTdsw ks es e flwimsd] QurmESeLD.

(a) Ectomorph 1. Athletic Body
&Gl SL&G6T 2 L)
(b) Mesomorph 2. Disproportionate body
BCamwomrl FOLWLOHM 216
(¢) Endomorph 3. Tall and lean body
aeramrGL oL 2 WINONeT HDID eaelwmer o L6
(d) Displastic 4. Short and Fat body
lg-evSlermenig & GLL HMID QAST(SS 2 L6

(@ @ ( (@
A 1 2 3 4
B) 2 4 1 3
3 1 4 2
(D) 4 3 2 1
(E) Answer not known
eflen Qs Mwelerene
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141. Assertion [A]

aalluymssed [A] -

Reason [R]

sryantd [R]

Early childhood is a critical period in establishment of
handedness.

<TOUS ST GUbmsl  Lmeusde esuier Lwerur(
(088 sanano) Bime|eudled (p&ELLLTET STEOLTGLD.

Children are good at artistic expressions during this
stage.

@Qrs Hooled Gebossd s  Geslllur@seie
Hpbseursents @) meSlemmet.

(A) [A] is true, but [R] is false.
[A] eremug) o awanwo, syanmed [R] eremug) seupnang

(B) Both [A] and [R] are True and [R] is the correct explanation of [A].
[A] wpmp [R] @ran@n e arewwraiemes, [R] eremug [Al@en sflwiren

Maréad

(C) [A]is false, [R] is true.
[A] erémugy seupnang wdmibd [R] eremug) o aranwo

’6 Both [A] and [R] are true, but [R] is not the correct explanation

of [A].

[A] womgw [R] @rem@n eamamwwuramemes [R] eramg [Al@en sflwmar
NeT&HED L

(E) Answer not known
e Qs flweidene
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142. Why is an increase in balance so important to a child’s physical
development in early childhood?

GYhws LMmausdle Gubamsuler o L euariéflse igan swbBloouid o wiey ger
Bl p&flwinreng ?

)

(B)

(©)

(D)

(E)

It allows the child to support their head on their own in a
meaningful way.

B8l GPHDS 515 so@@u GO Sligswaer anfluiio smhis si@iodsdns)

It allows the child to make purposeful use of their fingers in
co-ordination with other senses.

Qg GYbes LHD uRaEE@ELG  QOESamaThs  SREH  edrdsmer
Cprésggien LSS A@LLHEE DS

If allows the child to do many things - writing and dfessing.

GRBMS T(HEISD LOHMIL el Safilsewr Curam e eleswrismers Qauiw
<igodlsding

It makes additional exploration of the child’s environment possible
and leads to learning.

Qs Geboslear Gumal upflu sadsd BplieEmen srsSlwinnsESng
LOHHILD SHOMSES cufleuGsElng

Answer not known

ellenL Qg flweNweme

143. The most important factor in the physical development of children is

Gyhmgsafiar o L cuariéfuia Ble wpédwinmer syanf

(A)

)

(E)

Exercise (B) Cleanliness
o Lpuuiné Fnieno
Nutrition (D) Sleep

oa1l 1§85 LN )

Answer not known
deni_ Qg,ﬁlmaﬁ]d)mcsu
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144. Premature babies are babies born before weeks.

PETEaL g GLBEMSEET ————— QUTTERISEFEE (P UDHS GLRHMSSETTGLD.
37 (B) 40

C) 39 (D) 42

(E) Answer not known
en Qs flweidwane

145. When infants are turned in such a way that the buttocks or feet would
be delivered first, the type of delivery is called

UES e GLHMSHET AL PSSl UFFaud LIMTEGD Mzgsled GWHmssmaens

Amuienme, 9ygausdlen auans ————— eTe) S P&EULBEDG.
(A) Natural delivery (B) Forceps delivery
QunasGum < usLGum
‘6 Breech Birth (D) Caesarean Birth
senapls Amiiy ACefwen simeneus Sldlsams

(E) Answer not known
e Qs flwaeiidana

146. In which birth, the fetal buttocks appear first, followed by the legs, the
arms and finally the head?

apsls GpLide, smedar AL b wpgeildn Cerammib, SAmss GFTHG STOSET, MEHET

womb GniSluild gee Ggremmn?

(A) Caesarean - Section Birth (B) Breech Birth
ACsMwen-19fey Amiiy Gt Qoliy

(C) Instrument Birth (D) Spontaneous Birth
&medl 9Ly genaflFanaumer oL

(E) Answer not known
enL Qgfweilcrene
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147. Abnormalities include hereditary or spontaneous genetic disorder.
Which among the following tests involves No risk to the fetus?

SAenFNrarisaile Lurbumy Adag saraflgamsunea wIua CaTETINSET L kiGLW
Wemeumbd erhs Camgananuile) &(mHe s < LISE Qe
(A) Amniocentesis

N G AF 70 (AT Y

(B) Chorionic villus sampling
Carflwmafls eflevavev omgM

(C) Percutaneous umbilical blood sampling
Qs miyer Qrsg wrd

‘6- Fetal ultrasound

&(Th S|VL_JTEF6 GRTL_

(E) Answer not known
een Az flwelaweame

148. Woman above years of age has higher risk of chromosomal
abnormality such a Down’s syndrome.
awgsE Cupull CuanseEné@ Leeamay  Sar Crmd  Cumemm
GCTTGLrCemomed Siengryemiigaf e 2LISF S

35 (B) 25
(C) 18 (D) 20
(E) Answer not known

elen QgMwelweme
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149.

150.

151.

is a prenatal diagnostic method performed at 9 weeks after
conception to detect genetic abnormalities.

— ey &mssllss 9 amrhsefid  wruems GopuThs@®Ers
saTLHeugnans Qeliuin®ib @@ wslCuméE whul L Crrublse (peapwTELD.

(A) Amniocentesis (B) Fetoscopy
SMmeuaTTES Hlane < u16, o QUCLmaLCasmA
)  Chorionic villus sampling (D) Ultrasound
Camilwres slldveav wr WlenasGlwimed
(E) Answer not known
ev Qs flweiidene

The increase in skin pigmentation during the pregnancy period 1s due to

sirliu srsHo Care Anul siflsfllingnE sryemrd

(A) Hyperaemia (B) Spider Naevi
aan ACrilwm avenLIL T Gpe
Striae Gravi Darum (D) Palmar Erythema
avl_gm Hgedgd umebwor erflgLom

(E) Answer not known
efen Qs flweidane

The average weight gain during the course of pregnancy is

&L srgHd e smuller ggmefl erean

(A) 10kg (B) 13 kg
10 fiGeor 13 £Geor
w( 12 kg (D) 15 kg
12 £iGaur 15 £Geor
(E) Answer not known
e Qs flweidene
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152. Which among the following are types of genetic tests?
Yemeumeuareunled wyugm Cergamansallan cuamaser wrameu?
(1) Predictive tests
wenganflliy Cengenanaer
(11) Diagnostic tests
saL b Cergamensar
(111) Carrier testing
Caflwm Cengeneanger
(iv) Research tests
oM Cangenenger
(A) (), (i) and (iii) only (B) (1), (ii1) and (iv) only
(1), (1) womd (1i) w Hib (11), (iii) wpmbd (1v) wi Hib
(C) (), (iii) and (iv) only 6@), (11), (i11) and (iv)
(1), (111) wpmw (V) wi_Hib 1), (11), (iii) wHmb (iv)
(E) Answer not known
eflenL Qgflwaldrenaw
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153. Assertion [A] : Rh positive foetus produces certain substances called

Antigen.
adymsso[A] : Rh Coiwep &m <enqQmer aeiu@n fo Qurmlsmen
o Husd QewSmg.
Reason [R] . Common drugs can also affect the unborn child.
sryentid [R] . Qungleunan W(MHHEISET IDESTS GWHOSMWIL|D LITEESEMLD.
(A) [A] is true, but [R] is false.
[A] erénug) o amenio, penmed [R] eremuigy seuprang.
(B) Both [A] and [R] are True; [R] is the correct explanation of [A].
[A] womw [R] @randw e armwwuraee, [R] aeug [A] @dr sflurer
eNeTESLD. , . i
(C) [A]is false, [R] is true.

)

(E)

[A] eremugy seuprang wpmib [A] eranuig) 2 @menio.

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]. ' _ N

[A] wimp [R] @rar@n e a@ramwwuraee, [R] ererug) [A] @en eflwmar
NeT&ED Seved

Answer not known

en Qs flweidene

154. Which of the following has the longest period of sensitivity to
Terotogenic effects?

Gemeumeuamaupiledr erg  QLIGLrAgafls (Teratogenic) olearays@psE s

2 aTTHDET STeLD 2 6TeTg)?

(A)

©

(E)

Peripheral Nervous System ) Central Nervous System
LM BFLDL] LDEHTL_GVLD &S W BFDL| OETLLD
Limbs (D) Sensory Organs
MEPDHMILD HTEOSHET 2 _anTTe 2 MILIL|&ET

Answer not known
ev Qsflweldweme
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155. Match the following :
(a) Maternal malnutrition

smicuf oar’ &858 GemOUIT(H

(b) Drug

LO(HH&I&6T

(¢c) Uterine crowding
&(mUeU QB (HESIY

(d)

X-ray or radiation
&Gy / sdlieiss

(@) (b) (o) (@)

A 3 4 2 1
@ 1 4 2 3
C 4 3 1 2
) 2 1 4 3
(E) Answer not known
aflen QgMweldene

1. Accelerated foetal heart beat

ellenrauBssln L
sliqLy

sGeflen  Qsus

2.  Abortion, Still birth

S(HEHEMLIL|

3.  Microcephaly

GNIHS®D

4.  Congenital dislocation of hip

Wwed QHLIY cugssa

156. The point at which the foetus can survive outside the womb is called the

sHLamLEE HeuallCu &m waedld 2 uliunpssyw Hae

S@WESLILHEADG.
(A)

age of survival
2 ulli GuT(YLD GuwIg
(C) age of mortality
Qmuiiy euwigy
Answer not known

ellen Qs flwelerane

(E)

Child Development

erenm)

W5 age of viability

BLOLGSS MU 6T cuLLIg)
(D) age of morbidity
Cormydm euwig
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157. Arrange the following in order

sflurs cuflansliu(BSS eT(PGIS :
(1) Period of foetus
&HEGSLH®S L(HEULD
(2) Period of Ovum
GO@y LI(HeULD
(3) Fertilization
HHEYDISD
(4) Period of embryo
@) eTRIS(H LI(HEULD
v ®), @, 0 ®) (1), @, (), @
€ @,4),3), Q) D) 3), (4, (1), (2)
(E) Answer not known
Mev Qg flwalcrane
158. In weeks, rhythmic alternations between sleep and

wakefulness occur in the fetus.

auryisaild, gss8nE0w AWLLEED Qe ulld grar rHDHhISET,

&(matle ermu L.
(A) 20-26 @0-34
(C) 28-30 (D) 38-40
(E) Answer not known

ML Qg flweiideana
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159. Which of the following is not a period of pre-natal development?
Yenraumeuameummley 6Tl ApLiLGE (pHesw eueri&dluden STeld jea?

(A) Period of Ovum Ay Period of post partum
&mpLenL_ulles Sraubd Grseusd @ Abasw Sreid
(C) Period of embryo (D) Period of fetus
&(H(LPENGIT STEVLD &mellen HmeLd

(E) Answer not known
Men QgflweNeweme

160. Which antenatal development stage falls in the age range of 2 weeks to
‘2 months? : : ' ‘
2 aunmrriseT (psd 2 wrshiser euamrufone auwgl eugwldler rseusdnE wphHegw
cueri&d Flaney g ?

(A) Stage of Zygote ﬁswge of embryo
smpLanL Hlana Qlemiigm Blanew

(C) Stage of fetus (D) Stage of infancy
euariam Hlene GLhang LhHeublane

(E) Answer not known
elen Qs flwelerene
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161. Which of the following statements are True about pregnancy and
embryonic development?

162.

&I LHMID smHeuattds LHdlul 19ereumb fémasatlc arg e a@ra?

(1)

(i)

(i11)

Finger like projects of trophoblasts are called chorionic villi
edged augeu CamAwmeas afleval eremuigy L GrmGumllemmeig 6t ClE&EATTE G L.

Chorionic villi and blastula fuse to form the placenta

Gaflurafls elded wLHML sHLUmL Hs QoaTbg HEEESASTIR@W
2 (HeUMTSGH ).

Zygote is a tissue formed by the union of the sperm and ovum.

BCaM ereng olpg wHMID SMHEpLmLdar @EBlLSSTR 2 (HUTGD R Hla

. <BGWD.

(A)

(©

(E)

(i) and (i) only \'m/(i) and (iii) only

() wgid (i) v @) wpgio (iii) v G
(ii) and (iii) only (D) @), (i1) and (i11)

(i1) wHmb (111) W Hb (1), (11) wHmyb (11)
Answer not -known

erL QgMuieferenew

releases the hormones that help in preparing the uterine

lining to receive fertilized ovum.

MDD Sl QuneISHE SHLILIE souanis swnflés

?m anmiGureansamer QeuafluliG&mg.
)

Corpus Luteum (B) Progesterone

SMTLGE 6OUplqWILD HCrmQlgavig Grymen
(C) QOestrogen (D) Corpus liccus

gL QuiG@ BT STTLGL edl&&EN
(E) Answer not known

en Qs flweldene
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163. Choose the name of the first researches, who researched about the
heredity of twins

Qi wisafler uFbueny LD <liey Qg WPsed prriEHumerder QuUWmTE

CsbLgHESa|LD.

(A) dJean Piaget {Francis Galton
syerm Quir@egL Ygrendlev smeoL_ei

(C) Max Weber (D) Edmund Burke
Gusen Qeuur GTL_LOGRTL LIS

(E) Answer not known
sllen Qs Mwelerene

164. 1Q scores are generally correlated with academic performance

1Q wiuQuanse Quigieuns swels Hpay et AsmLiyemwema

(A) Perfectly (B) Highly
&&8SL0ME 2 WITEUTS

\6 Moderately (D) Least
WNgwre GDEUNTE

(E) Answer not known
een Qs flweleame
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165. What are the ages and grade levels most important for parents to be
involved in their child’s education?

QupGpriser shisd GRhamsa soeluld FHLBMSHE g LHHID STl

GTGITGHT?
(A) Middle and high school
BOSST LwHYID 2 wiiElenels LieTarf]
(B) Elementary school
Qgr_sgslinarar
) Pre K-12

(peETLImHeukEISET (ps@ Gudblaeiiuieraf
(D) Pre — school
T penu(heud saed
(E) Answer not known
enL QsMwaildana

166. Mention the wrong statement about principles of child development.
GYbos auetiéfluler Aamareasser LHBlw seuprer SMsmsmus GOHULELab.

(A) All development results from an interaction of maturation and
experience.
omasg aerisAyn  pHiEd  wpmd  guegdar  Agmiysatier
eflenareum@Lb.

) All development and learning proceed at an equal rate.

Si@andg) eueTrES b sHOQID F1o 9fssHd AsTLiidlamar.

(C) All development follows a sequence.
Sima$g) eueTrESLb @ euflesamuils GeruHmSDE.

(D) All areas of development are important
aueiEfuflen Semeasg LGHSEHD (paSlwnnarene.

(E) Answer not known
MevL Qgflweldena
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167. Which of the following is not a purpose of developmental tasks?
Geneumeuareunley ergy euemiflls Lianflsafien CHTEsD Hea?
(A) Acts as guidelines for parents and teachers.
QupGorit wHmib A Awuies@Esse euflan yuns Qsuou@®ansg.
(B) Serve as motivating forces for children to learn.
GRbMFsEmET NS gramHib s5Hwns QeuduBHng.

(C) Inform what is expected of children in the immediate and remote
future.

oLany wHQD  Csreagry  adistwsdd  GuHmsselLd  ererar
erdliuumissiiu®fng aaums QsMeléseyw.
‘6 Enables children to study well.
GLHNGEMET BETDNS Lilg &8 MeusdHng).
(E) Answer not known
ellen Qg flwelerene

168. Learning to get along with age mates is part of
developmental stage.

anwg GampraEpLear Lwss sHnsé Qsrdeug aetug abs euetiédls si L s &(

UGS WMELD.
o( Middle childhood (B) Adolescence
BHSST GBS LIHEULD @arenwols Limeud
(C) Early Adulthood (D) Middle Adulthood
WpSreuwigy LimeuLd BHSST auwgeubGHT Li(HeuLD
(E) Answer not known
eflen QgMNweldana
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169. Which among the following is not a condition determined at the time of
fertilization?

Wereumeuareupe g &hSSMNG@IDL CrrsHea Bliamulssiiu(piywns srrearfl?

(A)
(B)
©

«

(E)

Hereditary endowment

LITOUENT LUIL|SH60

Number of offspring

shsdaaflan crammantldans

Sex determination

LITENWIE) (Lpig 6y

Attitude of significant people
GO S558 Buisefler oigmi@GpeaD
Answer not known '
eenL Qsflweidene

170. ‘A stage is a period during which certain changes occur’ - was stated by

“am Hlew aarug Hawmhpiiser Hla@b srew” aam GO L6l

% Smart and smart (B) Pearson
GuMTL HOID Gumr Qwirgen
(C) Watson (D) Pintner
euUmL_ger Qesr_eorit
(E) Answer not known

en Qg flweicane
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171. ‘Voice breaks’ in boys are common in developmental period.

Smeursaflav ‘Gre (wpleyser aueT&élS sregHle Qumgeurarana.
(A) Infancy (B) Early child hood
&l& Li(meuLd Y TDOLISTED GPHENS LI(HEULD
Puberty (D) Adulthood
LI(THOULDEDL_S@ pdlreuwig
(E) Answer not known
eflen Qg flwelwene
172. ‘Toddler’ refers to ——— of infancy period.
' ‘@nipaL GUITRLD GYHDS Grsinugj.@@‘r_'r)mg)u MO R— @'[f)]é;éﬂ,r_r)@.
(A) First year
WPSOTOTEET(H)

(B) Second month

Gy meug) LOMGLD

(C{ Second year

S)TEHTL_ITD Gu(HLLD

(D) First month
(PSED DTGLD

(E) Answer not known
elen Agsflwefeweme
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173.

174.

175.

Early imaginative fears disappear by the age of
SPTDOUSTE) SHUMET LIRS 6Thg eudlb@eT wannbgIes (Hib?
(A) 10 years &years
10 euwgy 12 cuwigy
(C) 14 years (D) 16 years
14 auwgy 16 auwig
(E) Answer not known
e Qsflwelerene
If the child has the mental age of 5 years and chronological age of
- 4 years then its-1Q is
QM GRhmsulean waaILg & PEHSET LHMID STWEILIS) 4 o a@T(H&6ET GTEIMME,
Gubaswia 1Q aearareuns @ meswn?
(A) 80 (B) 100
©) 120 v 125
(E) Answer not known
en Gsflweidena
A fertilized ovum is called
&(HEYDM HHIPLEL Tan SP&EsILHEDS.
(A) ablastocyst (B) an egg
e(m DemmavGLrdlevi R (PLanL
6 a zygote (D) an embryo
e asGam 6( &(
(E) Answer not known
e QgMweildena
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176. Early childhood stage is named as age by educators.

- 177.

RTOUSTO Gbns Lmeu Hlane soeflwrarisermed QUG eTe
S@P&ESUILHS D).
(A) Exploratory age (B) Toy age
<G GUILIG) QuTbento euLIg
(C) Imitative age Preschool age
Gumedl cuuwig ueTaflé@ (pHhansw euwig
(E) Answer not known
eden QsRweldene
Assertion [A] : In infancy size of the head in relation to rest of the

body is 1/8 and in adulthood is 1/5.

adlynssd [A] @ e dlar wpp LEHsErLar @UOGDLCUTE sl oy

8 & 1 ugdwrseyd, wdins auwdd Qs 5 & 1 ugHursen

2_6Terg).
Reason [R] :  This is due to change in size and proportion.
aryenrd [R] I ety wpmib e1fsEHD THUG D LTHDDLSTE STFeRTLD.

)

(B)

(©)

D)

(E)

[A] is true but [R] is false.

[A] &fl, yanmed [R] seugy.

Both [A] and [R] are True and [R] is the correct explanation of [A].
[A] wpgid [R] Gran@ind o emano. [R)] erenugy [A] @en sflwimer 6ferésio.

[A] is false, [R] is true.

[A] souy [R] o

Both [A] and [R] are true, but [R] is not the correct explanation
of [A].

[A] wppb [R] @rem@n o amanon, <yemme [R] aarug [A] Qe sflwmar
eller&sLd @eenaw

Answer not known

alenL QgRwueloena
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178. The period of early childhood extends from

<SWTIDUSTE GBS Li(HeugSler sralb auany BarT(HeTeng.
(A) three to eight years (B) three to seven years

epenml (PHE T pTHSET QPEND (PSHD (P e (BHaaT
(C) three to six years \@Hﬁ:wo to six years

CPETY (PSED Y T SET Quan® s By amHse
(E) Answer not known

e Qs flweidena

179. Psychologists consider early childhood as

2 ereAWQETTSET  RIDOUSTR GBS L(HUSDS - GTens
&I Flenmentir.
(A) Preschool age (B) Troublesome age
LT GUWIg) Apwre auwg
Pregang age (D) Age of exploration
(PG (GLOLIE G < UIE| QWIS
(E) Answer not known
Mev Qzsflweicrene

180. During childhood, the children who have muscular body build are
known as

GYHms LHeUSHD, SMEHMT 2 L el Qareri_ (GLWHmSeeT
Tenn SPESILIHEDTTSAT.

Mesomorphic (B) Ectomorphic

BGemomrmAl er&GLmommA
(C) Endomorphic (D) Short built

erarGLmomia Sl 2 (HeuLd

(E) Answer not known
MevL Qs flweideana
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181. Reason and Assertion type

Assertion [A]

alygsse [A]

Reason [R]

smyentid [R]

Human development 1is a scientific field, has
contributed significantly to our understanding of
human being and to our knowledge of how they
develop.

weaflg eueti&d cremug) b sanUTED. @8 wallsman uhHw
BLogl UASQISEGD, Siee ereueunty cueamidlanpar eraLians LbHMlw
BLgl AMedE saflewnns unsealsgdrens.
Developmentalist know what to expect during
development stages.

auaTiFSlumanmée cueriéd) . Bleowsalle aeaar  ediuiss
Geuatr(d eremigy) Qg Muyb.

(A) [A] is true, but [R] is false.

[A] erémig) 2 aimeno, syammas [R] eremuigy seumnangy.

) Both [A] and [R] are True and [R] is the correct explanation of [A].
[A] womb [R] @rear@n o arewwrarea, [R] aerug [A] @er sfwmar

aNeTésL.

(C) [A] s false and [R] is true.
[A] eréug) seupnang) wdmb [R] eremig o_amento.

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A].

[A] wogw [R] @ran@o o a@mewwreaeme, [R] aarug [A] @er sfwnar
MNATESD SjGve.

(E) Answer not known
ellen_ QgMwelerene
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182. Pick the correct formula

sflwmen Suriperaneus GCambosh&&Ee .

(A) Maturation + Learning = Development
wpélitey + sHme = cuetiésl

‘6 Maturation x Learning = Development

pélitey X &HM® = euemiés)

(C) Maturation + Development = Learning
wpéita] + euemiéd = sHmed

(D) Development + Learning = Maturation
cuetiéd) + sHm@® = pdiay

(E) Answer not known '
Mer Qg Mlwelcrana

183. John Dewey drew inspiration from which psychologist?
somén e w6l e 2 eredlwamerfl b Gmbsl 2 FGeusbd Aupomi?

William James (B) Charles Darwin

efl@eSlwid CGeyiban gireven Lmirelle
(C) Eric Erickson (D) B.F. Skinner

etflé erflGae B.F. evdlaran

(E) Answer not known
efenL Qg flweferenew
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184. ——— is important for the full development of heredity potentials.

ugbuey sTsHws smisetian upp eueTTEléE, (pedlwiomeg).

‘6 Stimulation (B) Learning
gner(hBeo SHMHE

(C) Variation (D) Opportunities
wrmurh eumLIL|&eT

(E) Answer not known
elen Qs flwelcrene

185. Which of the following statements is / are correct?
ﬁ]eierJ@ﬁb sammssefia ergy 5rﬁu_|rr66rgu? '

(1)  The laws of heredity do not cover all human traits, but a fraction of
human behaviour.

LFbUTE FLRSET A@erdg walgl U smenyd o et &@eudldama,
<amed wafls HLsangulen gm @G

(i) Some traits are dominant over others, causing apparent exceptions
to the principles of like produces like.
o Gamrdubiser whpepder Bg <Hssn Qeausgidlenpen, @g Gumen
sumfluyseflenr  Qanareanss@nés QevafliiuenLwimenr  elfelas@smen
Foubs8SIng.

(A) () is correct (ii) is wrong
(i) o (i) soup

(B) (ii) is correct (i) is wrong
(1) &M (1) seum)

6 Both (i) and (ii) are correct

(1) womwb (1) efwirereney

(D) Both (i) and (ii) are wrong
(1) woybd (1) seuprarenan

(E) Answer not known
eenL. QzMwefeoema
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186. ‘True’ or ‘False’.

‘eflur ‘Geupm’

(i) A theory is an orderly, integrated set of statements that describes,
explains and predicts behavior.

em Gsmiur® aug @G @uhstar, EGhERdoahs  Siflsmsseen
Qer@uungL. @& bprsomsewu olaufsdpg, MasEdng, wHMD
perarhlelsSng).

(i) Some theorists consider development to have a substantial

plasticity throughout life based on their environment and
influential experiences.

Ao Cam_Um_LIeTiser S Gpd bHmb Csdeanss Wss igueuhisefier
Sig Lo ulled QUTLPIBTET paugd - eamsflurerg - saflswren
QarrevigdL_gews QaTeamgBLLSTES smgidleanpent.

(A) () is true (ii) is false
(1) e amenw (11) Soumy

(B) (ii) is true (i) is false

‘Kﬁ) o awenio (1) geum

(1) and (i1) are true
(1) wpmbd (1) 2 arento

(D) (i) and (ii) are false
(i) wpmd (11) e

(E) Answer not known
e Qgflwefdrena
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187. A child is born with a hearing disability and was delayed in learning to
speak. This is an example of the impact of physical development on
developmental domain.

M Gebog Aselgdper @opurhrer Gpsg, Cuss sdmsGardaaude STogH
gHuLLg. Weteumb ahs cuemidéls sersdld 2 o ecuatiefllen srés58nE Q8 @

T (h&5I&HTL_(H

(A) Cognitive Development (B) Emotional Development
SiINeuTHDHeL euaTi&s 2 aurTé8) cuarigé
Language Development (D) Social Development
Qumf euerids Feps eueTTgs

(E) Answer not known
eflen Qg Mlweferenad

188. development refers to change and stability in personal
and interpersonal phenomena such as motives and emotions and
personality traits.

alaiésl eremug) CBrésmtisdr, o amiéflae Hmb o@Dl
uamysdar  Gumenn  gefluulL wHmb  sefliulL  Hspeysalie  wIHHLD LOHmID

Blevagserawamus GNsHng.

(A) Emotional (B) Cognitive
o_amrii&d) 2Adleurdmed
Psychosocial (D) Physical
2 areilieh Feps; 2 L6 FMMHS

(E) Answer not known
eflen Qs flweldana
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189. The child begins to form concepts of physical and social reality, this is

190.

191.

one of the characteristics of

GYHMs 2L wHND Fps TaMTEssHar shsms 2 (haursss s riGdng. Qs

erinaTLsafle) emmr@L.

(A) Physical development ﬁntellectual development
2L 6 FNibG euariés) Sifley Enipg euerids)

(C) Emotional development (D) Social development
o awTliEdl FMHS cuUeTTES FPSHLD EMMHS CUETTFS)

(E) Answer not known
eflen Qgfuwiefdenay

The skills that are specific to the individual is called

gaflpLBECs 2 M Hperger eraTlIL(HILD.
Ontogenetic (B) Phylogentic
G Tlmariy & anuGarhgarngé

(C) Cephalocaudal (D) Proximodistal
QeuCarsm_e LipréeiGomig a6

(E) Answer not known
en Qgflwiefdena

The interactions between maturation and learning processes are clear in
development, such as postural responses and locomotion.

auaniedl, pHisdésn sHPe QeuduapsEn e wWere
Qsriiy Qgefeurs QeuallsaT_Hdpg, @S Csryaent ad(many WwHMID QuEED
S ENIEHE DIL_TBIGLD.

(A) Cognitive (B) Physical
SHeuTHmed L&

(C) Language \(ﬁ/Iotor
Qumf Gurlmr

(E) Answer not known
een Qsflwelerene
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192. The youngest child of the family, especially if distinctly younger than the

other children, is opt to be

in his development.

GOLUSHar Qeerw GWH®S, GHULTE WLHD GPHossmaeil  EleTamLwTs

B(HBSTD, Sjeurs euaridludle B(m&EE Couamr(Hib.
G Slower (B) Quicker
Qugleuns edlenrouns
(C) Dull (D) Active
OBSLOTET Qewedle

(E) Answer not known

alenL Ggflueildena
193. Development is a series of changes that involves
euaTT&Sl eTaLIg) 2 aTemL&&lw (i QST LTHOLOMELD.
(A) Growth or evolution (B) Atrophy or involution
auati&él g uflammosams Henge| Sjeag) 26r(h(Heuame
(ﬂ( Growth and atrophy (D) Growth or atrophy
auaTi&sl nmib Hengeneu auaTiésl Siag Hasama
(E) Answer not known
ellen Azsflweerene
194. When the development proceeds from the centre line of the body towards

the peripheral segments of the body, it follows the principle.

&y 2 Laflan awowsd Camliyelmps 2 L adler Upliughsmer Crrsdés QeoguoCug,

3G Qsrarenaemwis 9earLDSns;.

(A) Cephalo caudal (Gﬁ’roximo distal
QeuCGarsme LipréedlGLomig 6vL_ed

(C) Continuity (D) Cyeclical
QgrLir&d SLpHE

(E) Answer not known

ellen Qsflwelaweme
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195. Which of the following is not a goal of studying human development?
Qemeumeuameunie weaflg Gobum e (i Ligliudld @aéeE Qoanss) erg?
(A) Understanding what is normal development.
Queuner eueriés eranan eTamuans Ll Lfibg Gameareg
(B) Identify potential problems relating to child development.
GYhmsg cueniéd QemLiumer, srgglwiomer A&ESOSEET G L LITETLD &TEISH60

(C) Early intervention could be sought.
7L ganeuih GamrliuLeombd.
‘({) Predict the future of the child.
Gubmsuiean adisragms saflss.
(E) Answer not known
eferL Qg Mweidrana

196. Which among the following describes the characteristics of development?

Gemeumeuaneup e erg euemiésluden LicrenLl euflaflmg)?

(A) Measurable (B) Physical
SlaTedlL_&dalq 2 L&
) Comprehensive (D) Quantitative
eNfleuman 66

(E) Answer not known
Men QgMuwiefdrena
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197. Which of the following is true?
Yo (meuareuniled 6rg o amenLowITeg)?

) The pattern of development is the same for all Children but the
rate differs.
TOT  GPHDSEHEHEGL  euaTTésllder (pem @eTmSTE  amd  eAdsn
Goumiui L gy. :
(B) The pattern and rate of development is the same for all children.
asarigSlllen wem wHYL HNASD TOwT GYHmssEEEEL @Gr LIHAus

B(H&@GLD.

(C) The rate of development is same for all children but the pattern
differs. . _ . '
auaniédl alflgd e GrimssErEEn @Gy LIHALNE QMmEEH. e
e CoumiuLgy.

(D) Both the rate and pattern of development are different for different
children.

QoueuGeumy  GhHmsaEEEE auetiédl  elds oMb  (Wpen  @raT(HLn
Coumit_gy.

(E) Answer not known
elenL Qg flweerene

198. The epigenetic view states that development is the result of an ongoing,
bi-directional interchange between heredity and the environment,
according to

Uy UTbUeny wHmib &HNIEGWLISE Qe G BLbg Qaram (HEELwD,
Bsriy uflwrppsder elamereygren cuariéd eremmy endQmGeniy & Limiena Fo.m&lmg,.

(A) Schultz v Gottliab
gL 6 &SMeSL
(C) Lochlin (D) Kendler
Geomgalem Qaemri_avim

(E) Answer not known
elen Qsflwelweme
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199. The discipline of child development is
GLBang euaTTESudlen gpnIE (e

200.

(A) The systematic study of children’s development grounded in
empirical research and theory.
Sgiuey YoTiEs whmb Camlumiiger Sqlumuild Ghamg euertésluder
(PEMUITET DU
‘6 Knowledge that the child has about his own developmental
process.
GLhHms sang) s cuetiés Gawapanser upHBlw ibley.
(C) The study of parent - child relationships.
QI._IIIDGII)H[‘T - GBS u:r_f)rf)]u_l < Iey. -
(D) The study of children in their social context.
Gbanssafilen seps Gaalt uhHliu e
(E) Answer not known
efen Qg Muwieddenaw
Which of the following refers to the increase in mass and size of a Body
or organs?
Wemeumeuaeupila gl 2L e g 2 nlilsaier Fleom wHmb Nerey Slshllienus
&h&Sng?
Growth (B) Development
cuari&sl penGarHmLd
(C) Measurement (D) Quantitative
Sl6melllL_&golq U )
(E) Answer not known

elen Asflwefdane
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